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1.

[a]
[b]
[c]
[d]

Sol. [B]
1. 

13(2)

2. 

3. 

2.

[a] [b]
[c] [d]

Sol. [B]
1992 

50% 
3.

A.
B.

C.

D.

1. 42 2. 40
3. 41 4. 43

A B C D A B C D
[a] 2 3 1 4 [b] 2 3 4 1
[c] 3 1 2 4 [d] 1 2 3 4

Sol. [A]

1. In which well known decision did the
Supreme Court prohibit procedure of
amendment of fundamental rights through
constitutional amendment?
[a] Shankari Prasad case
[b] Golaknath case
[c] Kesavananda Bharti case
[d] Sajjan Singh case

Sol. [B]
1. In the Shankari Prasad and Sajjan Singh

case, the Supreme Court didn't accept the
Constitution Amendment Act as law un-
der Article 13(2) thus the fundamental
rights could be amended.

2. In the Golaknath case, the Supreme Court
overturned its previous decision, that is,
fundamental rights cannot be amended
even by the Constitution Amendment Act.

3. Kesavanand Bharti case, the Supreme Court
decided that fundamental rights can be
amended by constitutional amendment,
but this should not affect the basic structure
of the constitution.

2. In which case did the Supreme Court
propounded OBC creamy layer concept?
[a] A.K.gopalan case [b] Indra Sawhney case
[c] Kihoto case [d] Rajnarayan case

Sol. [B]
In the Indira Sahni case, 1992, the Supreme
Court propounded the concept of OBC creamy
layer and excluded OBC creamy layer from the
benefits of reservation. The extent of reserva-
tion cannot exceed 50%.

3. Match the following pairs correctly-
Directive Principles

A. Organisation of Gram Panchayats
B. providing work, education and public

assistance in certain cases
C. Just and humane work  conditions and

maternity relief
D. Decent wage for workers

Article No.
1. 42 2. 40
3. 41 4. 43

A B C D A B C D
[a] 2 3 1 4 [b] 2 3 4 1
[c] 3 1 2 4 [d] 1 2 3 4

Sol. [A]
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4.

A.

B.

C.

1.

2.

3.

A B C A B C

[a] 2 1 3 [b] 3 2 1

[c] 1 2 3 [d] 2 3 1
Sol. [A]

"We the

people" 

5.

[a]

[b]

[c]

[d]

Sol. [C]

1960 
6.

1.
2.
3.
4.
[a] 1, 2 3 [b] 1, 2 4
[c] 2, 3 4 [d]

4. Match the following-
Elements of Preamble
A. We the people of India
B. Republic
C. Social, Economic, political justice
Source
1. France

2. United States of America

3. Russia

A B C A B C

[a] 2 1 3 [b] 3 2 1

[c] 1 2 3 [d] 2 3 1

Sol. [A]

We the people of India - It is inspired by the
Constitution of the America "We the people".

Republic - It is inspired by the constitution of
France.
This ideal of social, economic, political justice-
Preamble is inspired by the Constitution of
Russia.

5. Which of the following statements is incorrect
with respect to the Preamble?
[a] The Preamble is an integral part of the

Constitution.
[b] The provisions of the Preamble cannot be

challenged in the court of law.
[c] Restrictions can be imposed on the

Legislature through the Preamble.
[d] The Preamble is useful for understanding

the ambiguous and dubiety provisions
contained in the Articles of the Constitution.

Sol. [C]
Preamble of the Indian Constitution - is a source
for knowing the sources of the constitution, in-
troduction to the objectives of the constitution
etc. It is also useful for determining the mean-
ing of the constitution. (Supreme Court in 1960
in the Berubari Union case)

6. Considering the following statements regarding
the importance/utility of Directive Principles of
State Policy, select the correct statement:
1. They give a detailed form to the preamble.
2. They are supplementary to the fundamental

rights.
3. They act as guide to courts.
4. Makes it possible for the opposition to

control the government.
[a] 1, 2 and 3 [b] 1, 2 and 4
[c] 2, 3 and 4 [d] All of the above
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Sol. [D]
The Directive Principles of State Policy are
mentioned in Part-IV of the Constitution from
Articles 36 to 51. It is inspired by the constitu-
tion of Ireland, it inspires the state to make laws
and govern according to the ideals of social
justice, welfare state etc.

7. The best expression of ‘Republic’ mentioned
in the Preamble is-
[a] In India the ‘Head of the State’ exercises the

real powers.
[b] The head of state is mandatorily directly

elected by the people.
[c] The head of the state is indirectly elected

by the people.
[d] The head of state holds the post for life time.

Sol. [C]
The best expression of a republic is the elec-
tion of the head of state by the people. The post
of head of the state is not hereditary but is cho-
sen by the public by directly or indirectly
through election procedure.

8. Consider the ‘Directive Principles of State
Policy’ as mentioned in the Indian
Constitution-
1. Promotion of cottage industries on

individual and cooperative basis in rural
areas (Article 43)

2. Promotion of educational and economic
interests of Scheduled Castes, Scheduled
Tribes and other weaker sections (Article
46)

3. Prohibition on the consumption of
intoxicating drugs and liquor other than for
medicinal purposes (Article 47)

4. Promotion of international peace and
security (Article 51)

Which of the above provisions are based on
Gandhian ideology?
[a] 1, 2 and 3 only [b] 1, 2 and 4 only
[c] 2, 3 and 4 only [d] All of the above

Sol. [A]
9. Match the correctly-

A. Right to Equality 1. Article 25-28
B. Right to Freedom 2. Article 23-24

of religion
C.  Right against 3. Article 14-18

exploitation
D. Right to Freedom 4. Article 29-30
E. Cultural and  5. Article 19-22

Educational Right
A B C D E

[a] 1 2 3 4 5
[b] 3 1 2 4 5
[c] 5 2 1 3 4
[d] 3 1 2 5 4

Sol. [D]

Sol. [D]
4 36 

51 

7.

[a]

[b]

[c]
[d]

Sol. [C]

8.

1.
43

2.

46
3.

47
4.

51

[a] 1, 2 3 [b] 1, 2 4
[c] 2, 3 4 [d]

Sol. [A]
9.

A. 1. 25 - 28
B. 2. 23-24

C. 3. 14-18

D. 4. 29-30
E. 5. 19-22

A B C D E
[a] 1 2 3 4 5
[b] 3 1 2 4 5
[c] 5 2 1 3 4
[d] 3 1 2 5 4

Sol. [D]
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10.

[a]
[b]

[c]

[d]

Sol. [D]

368 

11.

[a] [b]
[c] [d]

Sol. [C]
33 

12. 19 

1.

2.
3.
4.

[a] 1, 2, 4 [b] 1, 3, 4
[c] [d] 2, 3, 4

Sol. [C]
19 (6) 

13.
1. 18 
2. 1996 

[a] 2 
[b]
[c]
[d] 1 

10. Which of the following is correct with respect
to the Fundamental Rights?
[a] State legislature can amend them.
[b] They cannot be Amended as these are part

of the basic structure.
[c] High court cannot issue writs in their

respect.
[d] Parliament can amend these with a special

majority.

Sol. [D]
The Parliament can amend the Fundamental
Rights by a special majority through the power
derived from Article 368. Provided the amend-
ments do not affect the basic structure of the
Constitution.

11. The institution which can regulate and restrict
the fundamental rights of the armed forces
is-
[a] President [b] Judiciary
[c] Parliament [d] None of these

Sol. [C]
Article-33 provides that the Parliament can
curtail the fundamental rights of  armed forces,
paramilitary forces, police, intelligence agen-
cies etc.

12. Reasonable restriction imposed on the
freedom of profession under Article-19 is-
1. State can impose reasonable restrictions in

public interest.
2. Probhition on unethical act.
3. Prescribe professional or technical

qualification necessary.
4. The state can carry on by itself any industry

or service completly or partially.
[a] 1, 2, 4 [b] 1, 3, 4
[c] All are correct [d] 2, 3, 4

Sol. [C]
Article 19(6) deals with the restrictions imposed
on the freedom of profession. All the above
options are correct. Unethical acts mean, the
trade of drugs etc. will be banned.

13. Consider the following statements-
1. Article 18 abolishes the use of titles.
2. The Balaji Raghvan case, 1996 upheld the

constitutional validity of the National
Awards.

[a] Only statement 2 is correct.
[b] Both the statements are incorrect.
[c] Both the statements are correct.
[d] Only statement 1 is correct.
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Sol. [C]

1. 18 

2. 1996 

14.

1.

2.

3.

[a] [b]

[c] [d]

Sol. [A]

1. 117 (1) 

1 

2. 
2 

3. 

3 

15. 97 2011 

[a]

[b]

[c]

[d]

Sol. [C]

97 
2011 43 ( ) 

Sol. [C]
1. Article 18 deals with the abolition of titles.
2. The Balaji Raghavan case, 1996 upheld the

constitutional validity of the National
Awards-Bharat Ratna, Padma Bhushan,
Padma Shri.

14. Consider the role of the President in the
context of Money Bill-

1. A money bill is introduced in the Lok Sabha
on the assent of the President.

2. The President can return the Money Bill for
reconsideration.

3. Whether nature of Bill is Money Bill or not
is decided by the President.

How many of the above statements are
correct-

[a] only one [b] only two

[c] only three [d] None of these
Sol. [A]

1. According to Article 117(1), a money bill is
introduced in the Lok Sabha on the
recommendation of the President. Hence
statement 1 is correct.

2. President cannot return money bill for
reconsideration hence statement 2 is wrong.

3. Whether a Bill is a Money Bill or not is
decided by the Speaker of the Lok Sabha.
Hence statement 3 is also wrong.

15. Which provision was included in the
Directive Principles of State Policy by the 97th
Constitutional Amendment Act, 2011?

[a] To eliminate inequality of income, status,
facilities and opportunity.

[b] To provide just and humane conditions of
work and maternity relief.

[c] Promotion of Cooperative Societies

[d] Constitution of village panchayats

Sol. [C]

The provision for promotion of cooperatives
was made by the 97th Constitutional Amend-
ment Act, 2011 by inserting Article 43(b).
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16.

1.

2.

3.

4.

[a]  1, 2 3 [b] 2, 3 4

[c]  2 4 [d]

Sol. [A]

•

(i)

(ii)

(iii)

(iv)

(v)

(vi)

(vii) 

(i)

(ii)

(iii)

17.

1.

2.

3.

4.

[a] 1, 2, 3, 4 [b] 1, 2,4

[c] 1, 4 [d] 1, 3 , 4

16. Which of the following disputes are not
included in the original jurisdiction of the
Supreme Court?

1. Matters referred to the Finance Commission.
2. Ordinary disputes of a commercial nature

between the Center and the States.
3. Recovery of damages by a state against the

centre.
4. Dispute between two or more states.
[a] 1, 2 and 3 [b] 2, 3 and 4
[c] 2 and 4 [d] All of the above

Sol. [A]
         • The original jurisdiction of the Supreme

Court does not include the following
matters-

(i) Any dispute which has arisen regarding
any pre-constitutional treaty, agreement,
or any other similar institutions.

(ii) Any dispute arising out of a treaty,
agreement, etc., which specifically
provides that the relevant jurisdiction is
not concerned with that dispute.

(iii) Inter-state water disputes.
(iv) Matters relating to the Finance

Commission.
(v) Settlement of certain expenses and

pensions between the Center and the
States.

(vi) Ordinary disputes of a commercial
nature between the Center and the States.

(vii) Recovery of damages against the State
against the Centre.

Original Jurisdiction
(i) Dispute between the Center and one or

more States, or
(ii) Any dispute between the Center and any

State or States and one or more States on
the other, or

(iii) Between two or more States.
17. What are the elements of parliamentary form

of government?
1. Accountability of the executive to the

legislature
2. The minister is a part of both executive and

the legislature.
3. The principle of clear separation of powers

between the legislature and the executive
4. Rule of the majority party
[a] 1, 2, 3, 4 [b] 1, 2,4
[c] 1, 4 [d] 1, 3 , 4
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Sol. [B]

18.

A. 6-14 

B. 6-14 

C. 6 

1.
2.
3.

A B C A B C
[a] 3 1 2 [b] 1 2 3
[c] 2 3 1 [d] 2 1 3

Sol. [A]
6-14 

86 2002 
11

6-14 
86 2002 

21 
6 

 45 

19. 105 
[a] EWS 
[b]
[c] GST 
[d]

Sol. [D]
102 SC 

SEBC 

Sol. [B]
India has adopted a parliamentary form of
government on the lines of Britain, under
which the executive is jointly accountable to
the legislature. The minister will be part of both
the executive and the legislature. In this, the
party with majority attain power.
The parliamentary form advocates for
coordination between the executive and the
legislature. In the same presidential system, the
element of division between the two is present.

18. Match the following–
Provisions
A. Providing education opportunity to

children of age 6-14.
B. State will provide compulsory and free

education to children of age 6-14.
C. Early Childhood Care and education to

child less then 6 years of age.
Related Parts
1. Fundamental Rights
2. Directive Principles
3. Fundamental Duties

A B C A B C
[a] 3 1 2 [b] 1 2 3
[c] 2 3 1 [d] 2 1 3

Sol. [A]
To provide opportunities for education to our
children of 6-14 years – 11th fundamental duty
added through 86th Constitutional
Amendment, 2002.
The state will provide free and compulsory
education to all children of 6-14 years -
Fundamental rights 21(a) were added through
the 86th Constitutional Amendment 2002.
Early-child care and education of children
below the age of 6 years – This provision is
mentioned in Article-45 in Policy Directive
Principles.

19. 105 th Constitutional Amendment Act is
related to?
[a] Provisions regarding EWS
[b] Reservation of seats in the Lok Sabha-

Legislative Assembly.
[c] Amendment in GST
[d] Giving  states the authority to make a list of

socially and educationally backward classes.
Sol. [D]

As per the SC’s interpretation of 102nd
Constitutional Amendment, the State does not
have the authority to declare SEBC. This
constitutional amendment was done by the
Center to bring this decision back to status quo.
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20. The constitutional amendment not related to
extention of reservation system in the Lok
Sabha and state legislative assembly for
Scheduled Castes and Tribes is?
[a] 8th [b] 23rd

[c] 45th [d] 86th

Sol. [D]
By 8th, 23rd, 45th, 62nd, 79th and 95th
constitutional amendment act the special
reservation for Scheduled Castes and
Scheduled Tribes and Anglo-Indians,  in the
Lok Sabha and Legislative Assembly was
further extended for 10-10 years respectively.
With 104th constitutional amendment, it was
limited to SC-ST community only. This system
has been ended for Anglo-Indians.

21. The correct statements regarding the
Objectives resolution are-
1. It was accepted on February 22, 1947.
2. It was accepted unanimously.
3. The concept of Indian Union also included

those parts which would become part of
India in future.

4. It had the concept of social, political and
economic justice.

[a] 1, 2, 3 [b] 1, 3, 4
[c] 2, 3, 4 [d] 1, 2, 4

Sol. [C]
It was unanimously accepted on 22 January
1947. The Indian Union includes, the states and
territories included in British India, all the
territories of the Indian states and other
territories outside India, which would be
willing to join India. Social, economic and
political justice was mentioned in the objective
resolution.

22. Which committee was headed by Jawaharlal
Nehru?
[a] Union Constitution Committee
[b] Provincial Constitution Committee
[c] Fundamental Rights Committee
[d] Order of business Committee

Sol. [A]
Union Constitution Committee Chairman –
Pandit Jawaharlal Nehru.
Provincial Constitution Committee President-
Sardar Vallabhbhai Patel.
Chairman of the Fundamental Rights Commit-
tee - Sardar Vallabhbhai Patel.
Order of business Committee Chairman-K-M-
Munshi.

20.

[a] 8 [b] 23 

[c] 45 [d] 86 

Sol. [D]

8 23 45 62, 79 95 

10-10 
104 SC-

ST 

21.

1. 22 1947 

2.

3.

4.

[a] 1, 2, 3 [b] 1, 3, 4

[c] 2, 3, 4 [d] 1, 2, 4

Sol. [C]

22 1947 

22.

[a]

[b]

[c]

[d]

Sol. [A]
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23.

1.

2.

3.

4.

[a] 1 3 [b] 1, 3 4

[c] 1 2 [d] 3 4
Sol. [A]

24.

[a]

[b] 3 1952

[c]

[d]
Sol. [D]

80 
250 12 

2 
6 

25.

[a] 1 [b] 2

[c] 3 [d] 4
Sol. [C]

23. In which of the following cases a bill does
not lapse when the Lok Sabha dissolves?

1. A bill pending in the Rajya Sabha but not
passed by the Lok Sabha.

2. A bill passed by the Lok Sabha but pending
in the Rajya Sabha

3. A bill passed by both Houses but returned
by the President for reconsideration of
Houses.

4. A bill pending in the Lok Sabha, which was
transmitted to it by the Rajya Sabha.

Select the correct answer using the code given
below.

[a] 1 and 3 only [b] 1, 3 and 4 only

[c] 1 and 2 only [d] 3 and 4 only
Sol. [A]

24. Which of the following statements is not
correct about the Rajya Sabha?

[a] Rajya Sabha is a permanent body.

[b] It was duly constituted for the first time on
April 3, 1952.

[c] Twelve of Rajya Sabha members are
nominated by the President.

[d] One-third of its members retire every year.
Sol. [D]

Article 80 provides that the Rajya Sabha will
have a maximum of 250 members, out of which
12 members will be nominated by the Presi-
dent for outstanding work in the fields of lit-
erature, art, science and social service. One-
third of the members of Rajya Sabha retire ev-
ery two years. The term of its members is 6
years.

25. How many union territories have representation
in rajya sabha?

[a] 1 [b] 2

[c] 3 [d] 4
Sol. [C]

Of the eight Union Territories, only three Delhi,
Puducherry and Jammu and Kashmir have
representation in the Rajya Sabha.

The other five Union Territories currently do not
have representation in the Rajya Sabha.
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26.

[a] 1977
[b] 1991
[c] 2014
[d] 2019

Sol. [A]
1977 19 

1991 36 
2014 62 

2019 78 
27.

[a]

[b]

[c]
[d]

Sol. [D]
88 

28.
/ /

1. 552 
2. 542 
3. 530 

4. 131

[a] 1 
[b] 2 3 
[c] 1, 3  4 
[d] 1 4 

Sol. [C]
81 

552 
543 

81 (1)( )
530 

131
84, 

47 

26. In which of the following general elections
lowest number of women were elected to the
Lok Sabha ?
[a] Sixth General Election, 1977
[b] Tenth General Election, 1991
[c] Sixteenth General Election, 2014
[d] Seventeenth General Election, 2019

Sol. [A]
Sixth General Election, 1977 -19 Females
Tenth General Election, 1991- 36 Females
Sixteenth General Election, 2014 - 62 Females
Seventeenth General Election, 2019 - 78 Females

27. Which of the following statements about the
cabinet is incorrect?
[a] Cabinet ministers have the authority to

participate in each cabinet meeting.
[b] The Minister of State can attend a special

meeting only when invited.
[c] The Deputy Minister do not attend any

Cabinet meeting.
[d] A Minister,whether he is a member of any

house of parliament,shall have the right to
vote in each House.

Sol. [D]
According to Article 88, a minister will have the
right to speak and take part in the proceedings
of either house, but he can vote only in the house
of which he is a member.

28. Which of the following statements are correct
about the constitution of the Lok Sabha?
1. The maximum number of members of the

Lok Sabha can be 552.
2. At present the strength of the Lok Sabha is

542.
3. The number of members from the states in

the Lok Sabha cannot exceed 530.
4. The number of total reserved constituencies

in the Lok Sabha is 131.
Select the correct code from the codes given
below-
[a] Only 1 is correct
[b] Only 2 and 3 are correct
[c] Only 1, 3 and 4 are correct
[d] Only 1 and 4 are correct

Sol. [C]
According to Article 81, the maximum number
of members of the Lok Sabha can be 552.
At present the strength of the Lok Sabha is 543.
Article 81(1)(a) provides that the number of
members from the states in the Lok Sabha
should not exceed 530.
Total number of reserved seats in Lok Sabha 131
In loksabha 84 seats are reserved for Scheduled
Castes and 47 for Scheduled Tribes.
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29.

1.

2.  

[a] 1 [b] 2

[c] 1 2 [d] 1 2

Sol. [A]

61 
2/3 

1 

30.

[a]

[b]

[c]

[d]

Sol. [C]

324 

31.

1.

2.

3. 1927

[a] 1 2 [b] 2 3

[c] 1 3 [d]

29. Consider the following statements with
reference to the impeachment process of the
President-

1. The process of impeachment must be
passed by the legislatures of more than half
of the states after it is passed by a simple
majority in both the Houses of the
Parliament.

2. No President has been impeached so far.

Which of the above statement is incorrect-

[a] 1 only [b] 2 only

[c] Both 1 and 2 [d] Neither 1 nor 2

Sol. [A]

Acc. to Art. 61, The process of impeachment
must be passed by a 2/3 majority in each
House of Parliament. This proposal does not
require the consent of the state legislatures.
Hence statement 1 is wrong. Till date no
President of India has been impeached.

30. Who conducts the election of the President
in India?

[a] Lok Sabha Secretariat

[b] The Chairman of Rajya Sabha

[c] Election Commission of India

[d] None of these

Sol. [C]

Under Article-324 of the Constitution of India,
the Election Commission of India is responsible
for conducting, directing and controlling the
election of the President.

31. Consider the following statements about the
parliament of India

1. It is not a sovereign body, it functions
within the bounds of a written constitution.

2. The authority and jurisdiction of
parliament are limited.

3. The construction of parliament building
was completed in 1927.

Choose the correct statement-

[a] 1 and 2 only [b] 2 and 3 only

[c] 1 and 3 only [d] All of the above
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Sol. [D]

•

•

12
1921 6 18,
1927

32.

 368 

[a] 24 

[b] 41 

[c] 44 

[d] 7 

Sol. [A]

24 1971 

33.

[a] 142 [b] 143

[c] 144 [d] 145

Sol. [B]

143 

143 

Sol. [D]
The authority and jurisdiction of Parliament
are limited to the distribution of powers
between the Union and the States and
incorporation of a code of justiciable
fundamental rights in the Constitution. There
is also provision for judicial review which
means that all laws passed by Parliament must
be in conformity with the provisions of the
Constitution and liable to be tested for
constitutionality by an independent Judiciary.
All these provisions tend to qualify the nature
and extent of the authority and jurisdiction of
Parliament.
• Parliamen is the biggest law-making

assembly of India, which constitutes
President, Lok Sabha, and Rajya Sabha.

• Edwin Lutyens and Herbert Baker are the
architects who designed the model of
Parliament. The inauguration of
parliament was made on 12 February,1921.
The construction was completed in January
18 1927 after 6 years.

32. By which Constitutional Amendment Act, the

veto power of the President with respect to

the constitutional amendment (under Article-

368) was restricted?

[a] 24th Constitutional Amendment Act

[b] 41st Constitutional Amendment Act

[c] 44th Constitutional Amendment Act

[d] 7th Constitutional Amendment Act
Sol. [A]

Under the 24th Constitutional Amendment Act
1971, the assent of the President was made
mandatory or binding on the bills for
constitutional amendments.

33. Under which Article of the Constitution the

Supreme Court is consulted by the President?

[a] Article 142 [b] Article 143

[c] Article 144 [d] Article 145
Sol. [B]

Article 143 of the Constitution deals with the
right of consultation by the President with the
Supreme Court.
Article 143 When it appears to the President
that a question of law or fact has arisen or is
likely to arise and is of public importance or is
of such a nature. that it would be appropriate
to consult the Supreme Court, the President
may refer the question to the Supreme Court
for consultation.
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34. Which of the following Presidents of India

have also been awarded the Bharat Ratna?

1. Rajendra Prasad

2. Sarvepalli Radha Krishnan

3. Zakir Hussain

4. V.V.Giri

5. A.P.J Abdul Kalam

6. Pranab Mukherjee

Select the correct answer using the code given

below-

[a] 1, 2, 5, 6 only [b] 1, 2, 4, 6 only

[c] 1, 2, 3, 4, 5 and 6 [d] 2, 3, 5, 6 only

Sol. [C]

1.  Dr. Sarvepalli Radhakrishnan was awarded
Bharat Ratna in 1954.

2. Zakir Hussain who was awarded the
Bharat Ratna in 1963.

3.   Rajendra Prasad was awarded Bharat Ratna
in 1962. He was the President of the country
from 1950 to 1962.

4.  V-V-Giri was awarded the Bharat Ratna in
1975.

5.   Dr. APJ Abdul Kalam was awarded Bharat
Ratna in 1997.

6.   Dr. Pranab Mukherjee was awarded Bharat
Ratna in 2019.

35. To whom  President submits his resignation

before expiration of his tenure?

[a] Vice President

[b] Prime Minister

[c] Speaker of Lok Sabha

[d] Deputy Chairman of Rajya Sabha

Sol. [A]

Generally, the term of office of the President is
five years from the election, but before that,
according to Article 56 (1) (a), he can be
relieved of the post by handing over the
resignation letter to the Vice President.

34.

1.

2.

3.

4.

5.

6.

[a] 1, 2, 5, 6 [b] 1, 2, 4, 6

[c] 1, 2, 3, 4, 5 6 [d] 2, 3, 5, 6

Sol. [C]

1. 1954 

2. 1963 

3. 1962 
1950 1962 

4. 1975 

5. 1997 

6. 2019 

35.

[a]

[b]

[c]

[d]

Sol. [A]

56 (1) 
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36. Consider the following statements-

1. Article 19 only protects the right to freedom
of speech and expression.

2. Article 19 (2) mentions reasonable
restrictions on freedom of speech and
expression.

[a] Only statement 1 is incorrect.

[b] Only statement 2 is incorrect.

[c] Both the statements are correct.

[d] Both the statements are incorrect.

Sol. [A]

Article 19 protects certain rights regarding
freedom of expression etc. and Article 19(1)
mentions various freedom rights-

19 (1) [a]: Right to freedom of speech and
expression

19 (1) (b): Right to assemble peacefully and
without war

19 (1) (c): Right to form association or union or
co-operative society

19 (1) (d): Right to free movement within the
territory of India.

19 (1) (e): Right to reside or settle in any part
of the territory of India.

19 (1) (g): Right to carry on any profession,
occupation, trade or business.

37. The maximum period of an ordinance issued
by the President under Article 123 can be?

[a] 6 months
[b] 6 months 12 weeks
[c] 6 months 6 weeks
[d] 6 months 3 weeks

Sol. [C]

The maximum period of ordinance issued by
the President can be 6 months 6 weeks if the
legislature does not pass it.

The maximum period between two sessions of
Parliament is 6 months. And it is necessary to
pass the ordinance within 6 weeks after the
commencement of the session of the
Parliament.

36.

1. 19 

2. 19 (2)

[a] 1 

[b] 2 

[c]

[d]

Sol. [A]

19 
19 (1)

19 (1)

19 (1)

19 (1)

19 (1)

19 (1)

19 (1)

37. 123 

[a] 6 

[b] 6 12 

[c] 6 6 

[d] 6 3 

Sol. [C]

6 6

6 
6 
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38. With reference to the Attorney General,
consider the following statements-
1. The Attorney General is appointed by the

President.
2. The tenure of the Attorney General has been

fixed in the constitution.
3. The salaries and allowances of the Attorney

General have been determined by the
Constitution.

Which of the above statements are correct-
[a] 1 and 3 only [b] 1 only
[c] 2 and 3 only [d] 1, 2 and 3

Sol. [B]
1. Under Article 76 in the Constitution of

India, a provision has been made for the
Attorney General, who is the highest legal
authority of the nation. It is appointed by
the President so statement 1 is correct.

2. The tenure of the Attorney General has not
been fixed by the constitution. It works till
the extension of the President. Hence
statement 2 is wrong.

3. The salary and allowances of the Attorney
General are decided by the President, so
statement 3 is wrong.

39. To whom Prime Minister submits his
resignation ?
[a] Speaker of the Lok Sabha
[b] Rajya Sabha Chairman
[c] President
[d] Chief Justice of the Supreme Court

Sol. [C]
The resignation is submitted to the President
by the Prime Minister of India. According to
Article 75(2), the ministers remain at their post
till the pleasure of the President.

40. Consider the following statements regarding
the Council of Ministers in India-
1. The total number of ministers including the

Prime Minister cannot exceed 15% of the
total strength of the Lok Sabha.

2. Ministers other than the Prime Minister are
appointed by the President on the advice
of the Prime Minister.

Which of the above statement is incorrect-
[a] 1 only [b] 2 only
[c] Both 1 and 2 [d] Neither 1 nor 2

Sol. [D]
Under the 91st Constitution Act 2003, a
provision has been made that the total number
of ministers including the Prime Minister in
the center does not exceed 15% of the total
members of the Lok Sabha.

38.

1.

2.

3.

[a] 1 3 [b] 1

[c] 2 3 [d] 1, 2 3

Sol. [B]

1. 76 

1 

2. 

2 

3. 
3 

39.

[a]

[b]

[c]

[d]

Sol. [C]

75 2
 

40.

1.
15% 

2.

[a] 1 [b] 2

[c] 1 2 [d] 1 2

Sol. [D]

91 2003 

15% 
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41.

1.
2.
3.
4.

[a] 1, 2 4 [b] 1, 2  3
[c] 2, 3 4 [d] 3 4

Sol. [A]

1971-73 

1952 
1967-68 1970 

42.

1.
2.
3.
4.

[a] 1, 2, 3, 4 [b] 2 4
[c] 1 4 [d] 1, 2 3

Sol. [D]

, 

43. A

R

[a] A R R, A

[b] A (R) R, A

[c] A R
[d] A R

Sol. [B]

41. Which of the following Prime Ministers had
been the Chief Ministers of the states before
becoming the Prime Minister?
1. P.V. Narasimha Rao
2. Morarji Desai
3. Atal Bihari Vajpayee
4. Charan Singh
Select the correct answer using the code given
below-
[a] 1, 2 and 4 [b] 1, 2 and 3
[c] 2, 3 and 4 [d] 3 and 4

Sol. [A]
P-V- Narasimha Rao was the Chief Minister of
Andhra Pradesh from 1971-73.
Morarji Desai was the Chief Minister of
Bombay Province in 1952.
Charan Singh was the Chief Minister of Uttar
Pradesh in 1967-68 and 1970.

42. The salaries and allowances of which of the
following post are charged on the
Consolidated Fund of India?
1. President
2. Lok Sabha Speaker and Deputy Speaker
3. Rajya Sabha Chairman and Deputy Chairman
4. Salaries and allowances of High Court Judges
Select the correct answer using the code given
below-
[a] 1, 2, 3, 4 only [b] 2 and 4 only
[c] 1 and 4 only [d] 1, 2 and 3

Sol. [D]
The salaries and allowances of the President,
Lok Sabha Speaker and Deputy Speaker, Rajya
Sabha Chairman and Deputy Chairman are
charged on the Consolidated Fund of India. The
salaries and allowances of the judges of the
High Court are charged on the consolidated
fund of the respective state. The pension of the
High Court Judges is charged on the Consoli-
dated Fund of India.

43. Assertion A: Collective responsibility of the
cabinet signifies unity and coordination
among members of the Council of Ministers.
Reason R: It is the Prerogative of the Prime
Minister to select or drop any member of the
Council of Ministers.
[a] A and R both are correct and R is the correct

explanation of A.
[b] A and R both are correct but R is not the

correct explanation of A.
[c] A is true but R is false.
[d] A is false but R is true.

Sol. [B]
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44. Which of the following statement is not correct?

[a] Money bill can be introduced in Lok Sabha
only with the prior approval of the
President.

[b] President  can appoint commission to
investigate into the conditions of SC & ST'S.

[c] Parliament of India can declare any area
as scheduled area.

[d] President appoints the chairman and
members of the Finance Commission.

Sol. [C]
According to Article 117(1), a money bill can
be introduced in the Lok Sabha only with the
prior permission of the President.
According to Article 341 and 342, the President
can set up a commission to inquire into the con-
dition of the Scheduled Castes and Scheduled
Tribes.
According to Article 339, the President of In-
dia can declare any area as a scheduled area.
According to Article 280, the President ap-
points the chairman and members (1 to 4) of
the Finance Commission.

45. During the tenure of which of the following

Prime Minister, The Representation of the

People Act, 1951 was inserted in the Ninth

Schedule of the Constitution?

[a] Gulzari Lal Nanda
[b] Indira Gandhi
[c] Morarji Desai
[d] P. V. Narasimha Rao

Sol. [B]
46. Consider the following statements mentioned

in Article 123 of the Indian Constitution -
1. President has power to promulgate

ordinances during recess of Parliament.
2. An ordinance promulgated under this

article shall have the same force and effect
as an act of Parliament.

3. Such ordinance may be withdrawn at any
time by the President.

Select the correct answer using the code -
[a] Only statement 2 is correct
[b] Only statement 3 is correct
[c] Only statement 2 and 3 are correct
[d] All statement are correct

Sol. [D]

44.

[a]

[b] /

[c]

[d]

Sol. [C]

117 1

341,342 /

339 

280 
(1 + 4)

45.

1951 

[a]

[b]

[c]

[d]

Sol. [B]

46. 123 

1.

2.

3.

[a] 2 

[b] 3 

[c] 2 3 

[d]  

Sol. [D]
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47.

[a] 124

[b] 127
[c] 129

[d] 136

Sol. [A]

126 

127 

136 

48.

[a]

[b]

[c]

[d]

Sol. [B]

126 

49.

[a]

[b]

[c]

[d]

Sol. [B]

217 
124 (4) 

47. Which of the following pair is not correctly
matched?
[a] Appointment of acting - Article 124

Chief Justice
[b] Appointment of ad - Article 127

hoc Judges
[c] Supreme Court to be - Article 129

a court of record
[d] Special leave to appeal - Article 136

by the Supreme Court
Sol. [A]

According to Article 126, the acting Chief Jus-
tice is appointed by the President of India.
According to Article 127, the Ad-hoc is ap-
pointed by the Chief Justice of India with the
consent of the President.
According to Article 136, the Supreme Court
provides for special leave to appeal against the
decisions of all courts and tribunals in India,
but against the decisions of the armed forces
and tribunals, there is no permission under this.

48. Which of the following statement is not
correct with regard to appointment of Acting
Chief Justice of Supreme Court?
[a] President of India has power to appoint

Acting Chief Justice under certain
conditions.

[b] The Chief Justice of India has power to
appoint Acting Chief Justice.

[c] The Acting Chief Justice can be appointed
if the office of the Chief Justice of India is
vacant.

[d] If Chief Justice of India is unable to perform
his duties, an Acting Chief Justice can be
appointed.

Sol. [B]
According to Article 126, the acting Chief Jus-
tice is appointed by the President of India.

49. In which of the following case a Governor
cannot make a recommendation to the
President?
[a] Dismissal of the State Council of Ministers.
[b] Removal of the Judges of the High Court.
[c] Dissolution of the State Legislative Assembly.
[d] Declaration of breakdown of the

constitutional machinery in the State.
Sol. [B]

Article 217 provides that a Judge of a High
Court shall be removed in the manner of im-
peachment for a Judge of the Supreme Court
mentioned in Article 124(4).
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50. 1.

2.

[a] 1 [b] 2

[c] 1 2 [d]

Sol. [A]

283 (1) 283 (2) 

51.

1.

2. 5 65 

[a] 1 [b] 2

[c] 1 2 [d]
Sol. [B]

148 

6 
65 

52.

[a]

[b]

[c]

[d]

Sol. [D]

2020 14

50. 1. The Comptroller and Auditor General has
control over the release of money from the
Consolidated Fund of India or any of its
state's Consolidated Fund.

2. The Comptroller and Auditor General is
concerned with the stage of audit, when
money has been spent on any item.

Which of the above is incorrect statement:
[a] 1 only [b] 2 only
[c] Both 1 and 2 [d] None of these

Sol. [A]
Articles 283 (1) and 283 (2) provide that
withdrawal of money from the Consolidated
Fund of India or any of its states shall be done
with the permission of the Parliament or the
concerned State Legislature.
The work of the Comptroller and Auditor
General is only of auditing, that is, by
examining the expenses incurred by the
Consolidated Fund of the Center and the State,
to provide information whether all the
expenses have been legal or not.

51. Consider the following facts regarding the
post of Comptroller and Auditor General-
1. It is administered the oath of office by the

President.
2. Its tenure is 5 years or 65 years of age

whichever is earlier.

The incorrect statement from the above is:

[a] 1 only [b] 2 only

[c] Both 1 and 2 [d] None of the above
Sol. [B]

According to Article 148, the oath of office to
the Comptroller and Auditor General is admin-
istered by the President.
The tenure of the Comptroller and Auditor
General of India is 6 years or till the age of 65
years whichever is earlier.

52. Presently the Comptroller and Auditor
General of India is-

[a] Rajeev Mehrishi

[b] V. Narahari Rao

[c] Vinod Rai

[d] Girish Chandra Murmu
Sol. [D]

Girish Chandra Murmu has been appointed as
14th CAG of India .He is from Odisha.
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53.

1. 5 

2. 10 

3.

[a] 2 [b] 2 3

[c] 1 [d] 3
Sol. [D]

124
(3) 

54. 1.

2. 6 65

[a] 1 [b] 2

[c] 1 2 [d]

Sol. [D]

•

•

•

55.

1.

2.

3.

4.

[a] 1, 2 3 [b] 2, 3 4

[c] 1, 3 4 [d] 1, 2 4

53. Select the qualifications regarding the post
of Attorney General of India-
1. Must have been a judge of a High Court

for at least 5 years.
2. Must have been an advocate of High Court

for at least 10 years.
3. Should be an distinguished jurist in the

opinion of the Governor.
Which of the above is incorrect statement-
[a] 2 only [b] 2 and 3 only
[c] 1 only [d] 3 only

Sol. [D]
For Appointment to the post of Attorney
General of India one should have the
qualifications for a Judge of the Supreme Court
mentioned in Article 124(3). He must be an
distinguished jurist in the opinion of the
President.

54. 1. The appointment of the Attorney General
comes under the discretionary powers of
the President.

2. The tenure of Attorney General is fixed for
6 years or upto age of 65 years.

Select the correct statement from the above-

[a] 1 only [b] 2 only

[c] Both 1 and 2 [d] None of these
Sol. [D]

• The Attorney General is appointed by the
President on the advice of the Union Cabinet.

• The salary and allowances of the Attorney
General are fixed by the President.

• The tenure of the Attorney General is not
mentioned in the constitution. He serves on
his post till the pleasure of the President.

55. Which of the following Bills require the prior

recommendation of the President?

1. Bill related to creation of new states

2. Constitution Amendment Bill

3. Money Bill

4. Bills relating to expenditure from the
Consolidated Fund

[a] 1, 2 and 3 only [b] 2, 3 and 4 only

[c] 1, 3 and 4 only [d] 1, 2 and 4 only
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Sol. [C]

•

31 A 

[ 19 (1)g]

•

56.

[a] [b]

[c] [d]

Sol. [C]

5 
1 

57.

[a]

[b]

[c]

[d]
Sol. [D]

1.
2.
3.
4.

58.

[a]

[b]

[c]

[d]

Sol. [C]
• The following are also noteworthy in the

bills related to the prior approval of the
President - Finance Bill (First Class), Article
31A. Legislation relating to any Bill relating
to objects of taxation in which the States
are interested. State Bills which restrict the
freedom of trade, commerce, etc.
withdrawal from the Consolidated Fund.

• Constitution Amendment Bills do not
require prior recommendation of the
President.

56. 'Merely reducing the sentence without

changing its nature' is denoted by which of

the following terms?

[a] Reprieve [b] Respite

[c] Remission [d] Commute
Sol. [C]

Remission means reducing the term of the
sentence without changing its nature, such as
converting 5 years of imprisonment into 1 year.

57. Which of the following Presidents has not

held the office of Vice-President:

[a] V.V. Giri

[b] Zakir Hussain

[c] K. R. Narayanan

[d] Fakhruddin Ali Ahmed
Sol. [D]

The following Presidents had not held the
office of Vice-President-
1. Dr. Rajendra Prasad
2. Fakhruddin Ali Ahmed
3. Neelam Sanjeeva Reddy
4. Giani Zailsingh

58. The mismatched pair among the following is-

President Releated Fact

[a] V. V. Giri - President elected as an
independent candidate

[b] Neelam Sanjeeva - President elected
Reddy as unopposed

[c] Dr. S. Radha - Consecutively Elected
Krishann twice as president

[d] Justice M. - Took charge of the
Hidayatullah President twice in two

different forms (as CJI,
Vice President).
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Sol. [C]

1969 1982 

(1969-74)

59. 1.

2.

3.

[a] 1 2 [b] 3

[c] 2 3 [d]

Sol. [D]

65 (3) 

64 
97 

60.

[a]

[b]

[c]

[d]

Sol. [B]

Sol. [C]

Dr. S. Radhakrishnan has held the office of the
President once and has served as the Vice-
President for two consecutive terms.

President Dr. Rajendra Prasad has been elected
for two consecutive terms.

M. Hidayatullah has performed the functions
of President in 1969 as Chief Justice and in 1982
as Vice-President.

V.V.Giri was successful in the election (1969-
74) as an independent candidate.

59. 1. There is no provision for emoluments and
allowances etc. for the Vice-President in the
constitution.

2. The Vice-President draws salary as the ex-
officio Chairman of the Rajya Sabha.

3. As an acting President, the Vice President
gets the salary and allowances as received
by the President.

Select the correct statement from the above.

[a] 1 and 2 only [b] 3 only

[c] 2 and 3 only [d] All of the abvoe
Sol. [D]

According to Article 65 (3), the Vice President
gets the salary and allowances received by the
President while working as an acting
President.
Article 64 provides that the Vice-President
shall be paid the salary and allowances given
to the Chairman of the Rajya Sabha as per
Article 97.

60. The Electoral College of the Vice-President
consists of-
[a] Elected Member of Rajya Sabha only
[b] Elected and Nominated Member of

Parliament only
[c] Elected members of Parliament and

Legislative Assembly only
[d] Elected and Nominated Members of Rajya

Sabha only
Sol. [B]

All the elected and nominated members of
both the Houses of the Parliament (Rajya Sabha
and Lok Sabha) participate in the election of
the Vice-President. This indirect election is
done by the single transferable vote system
according to the proportional representation
method.
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61.

[a]
[b]

[c]

[d]

Sol. [C]

1952
1957
1962
1967
1969
1974
1979
1984
1987
1992
1997
2002
2007
2012
2017
2022

62.

1.

2.

[a] 1 [b] 2

[c] 1 2 [d] 1 2
Sol. [B]

•
67 

•

•

61. The correct chronological order of the Vice
Presidents is -
[a] R.Venkataraman-M.Hidayatullah-G.S.

Pathak-Krishnakant
[b] Mohd. Hamid Ansari-B.S.Shekhawat-

Venkaiah Naidu-K.R. Narayanan
[c] B.D. Jatti-Dr. Shankardayal Sharma-

Krishnakant-Venkaiah Naidu
[d] V.V. Giri-Dr. Zakir Hussain- R. Venkataraman

-Mo. Hamid Ansari
Sol. [C]

The list of persons elected to the post of Vice
President of India is as follows-
Years - Vice president
1952 - Dr. S. Radhakrishnan
1957 - Dr. S. Radhakrishnan
1962 - Dr. Zakir Hussain
1967 - V. V. Giri
1969 - G. S. Pathak
1974 - B. D. Jatti
1979 - M. Hidayatullah
1984 - R. Venkataraman
1987 - Dr. Shankardayal Sharma
1992 - K. R. Narayanan
1997 - Krishnakant
2002 - B. S. Shekhawat
2007 - Mohd. Hamid Ansari
2012 - Mohd. Hamid Ansari
2017 - Venkaiah Naidu
2022 - Jagdeep Dhankhar

62. Consider the following statements-
1. The power to remove the Vice-President is

vested only in the Rajya Sabha.
2. The reason for the removal of the Vice

President from the post is not mentioned
in the constitution.

Which of the above is the correct statement?
[a] 1 only [b] 2 only
[c] Both 1 and 2 [d] Neither 1 nor 2

Sol. [B]
• The procedure for the tenure and removal

of the Vice President is mentioned in
Article 67.

• The motion for the removal of the Vice
President can be moved only in the Rajya
Sabha.

• This proposal needs to be approved by an
effective majority in the Rajya Sabha and
by a simple majority in the Lok Sabha.
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63.

[a]

[b]

[c]

[d]

Sol. [C]

(24 1973) 

64.

1.

2.

3.

[a] 1 2 [b] 1

[c] 2 3 [d]

Sol. [A]

•

70 1992
01 1995

65.

1.

2.

[a] 1 [b] 2

[c] 1 2 [d] 1 2

63. Under which case the basic structure of the
constitution was envisaged by the Supreme
Court?

[a] A. K. Gopalan Vs. State of Madras

[b] Golaknath Vs. State of Punjab

[c] Kesavananda Bharathi Vs. State of Kerala

[d] Sajjan Singh Vs. State of Rajasthan

Sol. [C]

The Supreme Court in Kesavananda Bharti v.
State of Kerala (24 April 1973) decided that the
Parliament cannot amend various provisions
of the Constitution, including the Fundamental
Rights, in such a way as to affect the basic
substance or basic structure of the
Constitution.

64. Consider the following provisions related to
the Electoral College of the President-

1. Elected members of both the Houses of Par-
liament

2. Elected members of the State Legislative
Assembly

3. Elected members of the Union Territories of
Delhi and Puducherry Legislative Assemblies

Which of the above provisions were in the
original constitution of India-

[a] 1 and 2 only [b] 1 only

[c] 2 and 3 only [d] All of the above

Sol. [A]

• In the Electoral College of the President, the
provision of 'elected members of the Legis-
lative Assemblies of the Union Territories
of Delhi and Puducherry' was added by the
70th Constitutional Amendment Act, 1992
which came into effect from June 01, 1995.

65. Consider the following statements about the
Leader of the Opposition:

1. The office of the leader of the Opposition
is not mentioned in the Constitution of India.

2. They are entitled to the salary, allowances
and other facilities equivalent to that of a
cabinet minister.

Which of the statements given above is/are
correct?

[a] 1 only [b] 2 only

[c] Both 1 and 2 [d] Neither 1 nor 2
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Sol. [C]

•
•
•

•

•

66. A

R

[a] A R R, A 

[b] A R R, A 

[c] A R 
[d] R A 

Sol. [C]
• 56 

•

67.

1. 35
2.
3.

4.

[a] 2, 3 4 [b] 1, 2 4
[c] 1, 3 4 [d] 

Sol. [C]
The offices of the leader of the House and the
leader of the Opposition are not mentioned in
the Constitution of India, they are mentioned
in the Rules of the House and Parliamentary
Statute respectively. Hence statement 1 is
correct.
Leader of the House:
• The Prime Minister is the leader of the

House of which he is a member. In the
second house, a member nominated by the
prime minister, who is a minister, is the
leader of the house.

• Leader of the Opposition:
• In each House of Parliament, there is the

‘Leader of the Opposition’.
• The leader of the largest Opposition party

having not less than one-tenth seats of the
total strength of the House is recognized
as the leader of the Opposition in that
House.

• His main functions are to provide
constructive criticism of the policies of the
government and to provide an alternative
government.

• They are also entitled to the salary, allowances,
and other facilities equivalent to that of a
cabinet minister.

66. Assertion A: The President can be removed
from office by impeachment process for viola-
tion of the constitution.
Reason R: The term 'Violation of the constitution'
has been defined and various provisions have
been mentioned in the original constitution.
[a] Both A and R are true and R is correct

explanation of A.
[b] Both A and R are true but R is not correct

explanation of A.
[c] A is true but R is wrong
[d] R is true but A is wrong

Sol. [C]
• Under Article 56, the ground of impeach-

ment of the President shall be violation of
the Constitution.

• The term 'violation of the constitution' has
not been defined in the constitution. So far
no President has been impeached.

67. Select the correct statement related to the
qualifications for the post of President-
1. He has completed the age of 35 years.
2. He is qualified to be a member of Rajya

Sabha.
3. He should not hold an office of profit in the

Union Government or in any State
Government or in any local authority.

4. A sitting President or Vice-President,
Governor of a State and Minister of the
Union or a State is not considered to hold
any office of profit.

Code-
[a] 2, 3 and 4 only [b] 1, 2 and 4 only
[c] 1, 3 and 4 only [d] All of the above
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Sol. [C]

•
•

68.

1.

2. 56 

[a] 1 [b] 2

[c] 1 2 [d] 1 2
Sol. [D]

1. 56 (1) 
5 

2. 56 (1)(c) 

69.

1.

2.

[a] 1 [b] 2

[c] 1 2 [d] 1 2

Sol. [B]

1.

2. 65 (1)

3. 65 (2) 

Sol. [C]

• He should be a citizen of India.

• He is qualified to be elected as a member
of the Lok Sabha.

68.   Choose the incorrect statements related to the
term of office of the President-

1. The President may continue to hold office
even after his term of five years, until his
successor enters upon the office.

2. The tenure of the President is mentioned
in Article 56.

[a] 1 only [b] 2 only

[c] Both 1 and 2 [d] Neither 1 nor 2
Sol. [D]

1. Article 56 (1) mentions the tenure of the
President (a period of 5 years from the date
of assuming office).

2. According to Article 56 (1) (c), the President,
even after the expiration of his term of office,
will continue to hold office until his successor
enters upon his office.

69.    Consider the following statements regarding
the post of Vice-President and choose the
correct statement-

1. The office of the Vice-President of India is
based on Canadian model of the Vice-
President.

2. The Vice President of India acts as the Acting
President till a new President takes over.

[a] 1 only [b] 2 only
[c] Both 1 and 2 [d] Neither 1 nor 2

Sol. [B]
1. The post of the Vice President of India is

based on the model of the Vice President
of America.

2. Article 65 (1) - When the office of the
President becomes vacant (due to death,
resignation or removal from office), the
Vice President will act as the President until
the new President assumes office.

3. Article 65 (2) - If the President is unable to
discharge his duties (absence, illness or
other reason), then the Vice-President will
discharge the duties of the President until
the President resumes his duties.
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70.

1.

2.

3.

[a] 1 2 [b] 1

[c] 2 3 [d] 2

Sol. [B]

•

•

71. A: 1950

1935

R:

[a] A R R, A 

[b] A R R, A 

[c] A R 

[d] R A 

Sol. [A]

1. 1935 

2. 1950 

70.    Consider the following statements regarding
the appointment and tenure of the Attorney
General.
1. The Attorney General is appointed by the

President.
2. The Attorney General must possess the

qualifications required for the appointment
of a Judge of a High Court.

3. The Attorney General may resign by
submitting his resignation to the Prime
Minister.

Choose the correct statement-
[a] 1 and 2 only [b] 1 only
[c] 2 and 3 only [d] 2 only

Sol. [B]

• The Attorney General is appointed by the
President. He must have those
qualifications, which are necessary for the
appointment of a judge of the Supreme
Court.

• The Attorney General can hold office by
submitting his resignation to the
President.

71.   Assertion A: The jurisdiction of the ‘Supreme
Court’ constituted in January 1950 was wider
than that of the ‘Federal Court’ constituted by
the Government of India Act, 1935.
Reason R: The Supreme Court had replaced
the Privy Council of Britain.
[a] Both A and R are true and R is correct

explanation of A.
[b] Both A and R are true but R is not correct

explanation of A.
[c] A is true but R is wrong
[d] R is true but A is wrong

Sol. [A]

1. The Federal Court (Federal Court) consti-
tuted by the Indian Independence Act 1935
was the highest judicial body located in In-
dia, in which appeals could be made against
the decisions in the 'Privy Council' of Brit-
ain.

2. The Supreme Court, formed in January 1950,
took the place of Britain's 'Privy Council',
so its jurisdiction was more than that of the
Federal Court.
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72.

[a]

[b] 

[c] 

[d] 

Sol. [D]

127 

73.

1.

2.

3.

4.

[a] 1, 2, 3 [b] 1, 2, 4

[c] 2, 3, 4 [d] 1, 2, 3, 4

Sol. [C]

19 (1)
19 (2)

1. 

2. 1951 

3.  16 1963 

72. In case of non-fulfillment of quorum, who
among the following appoints Ad-hoc Judge
in the Supreme Court for a temporary period?

[a] President

[b] Prime Minister

[c] Law and Justice Minister

[d] Chief Justice of India

Sol. [D]

Article 127 - The Chief Justice of India can
appoint a judge of a High Court to be an ad
hoc judge in the Supreme Court for a
temporary period to fulfill the quorum of the
Supreme Court. He can do so only after
consultation with the Chief Justice of the High
Court concerned and with the
recommendation of the President.

73. Which of the reasonable restrictions on

freedom of speech and expression were part

of the original Constitution?

1. Sovereignty and integrity

2. Security of the State

3. Defamation

4. Contempt of Court

[a] 1, 2, 3 [b] 1, 2, 4

[c] 2, 3, 4 [d] 1, 2, 3, 4
Sol. [C]

Article 19(1) (a) provides for the right to
freedom of speech and expression subject to
the reasonable restrictions mentioned in
Article 19(2)-
1. Restrictions mentioned in the original

constitution:-
- State Security
- contempt of court
- defamation
- Virtue / Morality
2. Restrictions included by the First

Constitutional Amendment, 1951-
- Friendly relations with foreign states
- public order
- guilt provocation
3. Sovereignty and integrity were included as

restrictions by the 16th Constitutional
Amendment, 1963.
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74.

1. (1967)

2. (1970)

3. (1971)

4. (1973)

5. (1980)

[a] 1 4 [b] 1, 4 5

[c] 2, 3 4 [d]

Sol. [D]

75.

1.

2.

[a] 1 [b] 2

[c] 1 2 [d] 1 2
Sol. [D]

13, 32,
226, 131-136 

76.

1. 1985

2. 1995

3. 1999

[a] [b] 

[c] [d] 
Sol. [D]

1982

1993

1998

74. In which of the following cases, the power of

judicial review has been used-

1. Golaknath Case (1967)

2. Bank Nationalization Case (1970)

3. Privy purse Abolition Case (1971)

4. Kesavananda Bharti Case (1973)

5. Minerva Mills Case (1980)

[a] 1 and 4 only [b] 1, 4 and 5 only

[c] 2, 3 and 4 only [d] All of the above

Sol. [D]

In all the above cases, the Supreme Court has
exercised its power of judicial review.

75. Choose the incorrect statement from the

following-

1. The word ‘Judicial Review’ is nowhere
used in the Constitution.

2. The Supreme Court and the High Courts
the attain the power of judicial review from
various articles of the Constitution.

[a] 1 only [b] 2 only

[c] Both 1 and 2 [d] Neither 1 nor 2

Sol. [D]

The word judicial review was not used in the
constitution. But from many articles of the con-
stitution like-Article-13, 32, 226, 131-136 etc. the
court gets the power of judicial review which
is the basic structure of the constitution.

76. How many of the following pairs are

correctly matched?

1. First Judges Case - 1985

2. Second Judges Case - 1995

3. Third Judges Case - 1999

[a] Only two [b] Only one

[c] Only three [d] None of the above

Sol. [D]

First Judges Case - 1982

Second Judges Case - 1993

Third Judges Case - 1998

So none of the above is matched.
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77.

[a] 1968

[b] 2014

[c] 1947

[d] 1773
Sol. [A]

1968

78.

1.

2.

3.

4.

[a] 1, 2 3 [b] 2, 3  4

[c] 1, 2 4 [d] 1, 3 4
Sol. [C]

1968 

1. 

2. 

3. 

79.

1.

2.

3.
[a]

[b]

[c]

[d]
Sol. [A]

77. Which of the following regulates the

impeachment process in relation to the

removal of judges of the Supreme Court-

[a] Judges Inquiry Act, 1968

[b] National Judicial Appointments Act, 2014

[c] Indian Independence Act, 1947

[d] Regulating Act, 1773
Sol. [A]

The process of removal (impeachment) of a
Supreme Court judge is regulated by the
Judges Inquiry Act, 1968.

78. Which of the following are included in the
committee formed for the removal of
Supreme Court judges?

1. The Chief Justice of India or a Justice of the
Supreme Court

2. Chief Justice of a High Court

3. Speaker of the Lok Sabha or Chairman of
the Rajya Sabha

4. Eminent jurist

[a] 1, 2 and 3 only [b] 2, 3 and 4 only

[c] 1, 2 and 4 only [d] 1, 3 and 4 only
Sol. [C]

The following members are included in the
committee formed under the procedure of the
Judges Inquiry Act 1968 to remove the judge
of the Supreme Court from the post-
1. The Chief Justice of India or any other Judge.
2. Chief Justice of a High Court.
3. An eminent jurist.

79. How many pairs related to the merger of the
following princely states are correctly matched?

1. Kashmir - By Instrument of Accession

2. Junagadh - By police action

3. Hyderabad - By referendum

[a] Only one pair is matched.

[b] Only two pairs are matched.

[c] All the three pairs are matched.

[d] None of the pairs are correctly matched.
Sol. [A]

Kashmir - By Instrument of Accession
Junagadh - By referendum

Hyderabad -By police action
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80.

[a]

[b]

[c]

[d] /

Sol. [D]

a, b, c 
/

46 

81.

[a] 19(1) [b] 19(1)
[c] 19(1) [d] 19(1)

Sol. [C]

19 (1)
19 (5)

82.

1.

2.

3.

4.

[a] 1 2 [b] 2 3

[c] 1 4 [d] 3 4

80. Which of the following option is not included
in the fundamental duties under the Indian
Constitution?
[a] To Protect and improve the natural

environment.
[b] To safeguard public property and to abjure

violence.
[c] Protecting the rich heritage of the

composite culture.
[d] To protect the Scheduled Castes/

Scheduled Tribes.
Sol. [D]

Option a, b, c are related to fundamental duties.
Protection of Scheduled Castes/Scheduled
Tribes is described in Article 46, which is part
of the Directive Principles.

81. In Nagaland, Arunachal Pradesh, Manipur,
Mizoram, ‘Inner Line Permit’ is issued for the
entry of outsiders. Under which articles does
this permit act as a reasonable restriction?
[a] Article 19(1)(a) [b] Article 19(1)(b)
[c] Article 19(1)(d) [d] Article 19(1)(c)

Sol. [C]
Article 19 (1) (d) gives every citizen the right
of free movement but under Article 19 (5) this
right can be restricted to protect the ‘public
interest’ and ‘Scheduled Tribe interest’.
For the protection of the natives of Nagaland,
Arunachal Pradesh, Manipur, Mizoram,
outsiders have to take inner line permit from
the respective state government to come to
these states.
Foreigners need a ‘Protected Area Permit’ to
visit these states.

82. Which of the following provisions are
enshrined in the Indian Constitution to
ensure independence and impartiality of the
office of Lok Sabha Speaker?
1. He can be removed by a resolution passed

by the Lok Sabha by an effective majority.
2. He has not been given any voting power

in the Lok Sabha, except on his removal
motion.

3. After being appointed as Speaker, he resigns
from his party to remain politically neutral.

4. The salaries and allowances of the Speaker
are charged on the Consolidated Fund of
India.

Select the correct answer from the code given
below:
[a] 1 and 2 only [b] 2 and 3 only
[c] 1 and 4 only [d] 3 and 4 only
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Sol. [C]




50





83.

A.

B.

C.

D.

E.

F.

[a] B-A-D-E-C-F [b] B-D-A-E-F-C

[c] D-A-B-F-C-E [d] D-B-C-E-F-A
Sol. [B]

1. 

2. 

3. 

4. 

5. 

6. 

7. 

8. 

9. 

10. 

11. 

12. 

13. 

14. 

15. 

16. 

17. 

18. 

19. 

 

Sol. [C]

• Loksabha Speaker is provided with a
security of tenure. He can be removed only
by a resolution passed by the Lok Sabha by
an effective majority (i.e., a majority of all
the then members of theHouse) and not by
an ordinary majority (i.e., a majority of the
members present and voting in the House).

• This motion of removal can be considered
and discussed only when it has the support
of at least 50 members.

• The Speaker cannot vote on a bill in the Lok
Sabha in the first instance. He can exercise a
casting vote in the event of a tie. This makes
the position of Speaker impartial.

• The salaries and allowances of the Speaker
are fixed by Parliament, and they are
charged on the Consolidated Fund of India

83. Consider the following former Prime
Ministers of India.

A. P. V. Narasimha Rao

B. V. P. singh

C. Inder Kumar Gujral

D. Chandra Shekhar

E. Atal Bihari Vajpayee

F. H. D. Deve Gowda

Which of the one following represents correct
chronological order of their tenure?

[a] B-A-D-E-C-F [b] B-D-A-E-F-C

[c] D-A-B-F-C-E [d] D-B-C-E-F-A

Sol. [B]

S. No. Prime Minister Period 
1. Pandit Jawahar Lal Nehru  15th Aug. 1947 – 27th May 1964 
2. Gulzarilal Nanda (interim) 27th May 1964 – 9th June 1964  
3. Lal Bahadur Shastri  9th June 1964 – 11th January 1966   
4. Gulzarilal Nanda  11th January 1966 – 24th January 1966  
5. Indira Gandhi  24th January 1966 – 24th March 1977  
6. Morarji Desai  24th March 1977 – 28th July 1979  
7. Charan Singh  28th July 1979 – 14th January 1980 
8. Indira Gandhi  14th January  1980 – 31st October 1984  
9. Rajiv Gandhi 31st October 1984- 2nd December 1989 
10. Vishwa Pratap Singh 2nd December 1989- 10th November 1990 
11. Chandra Shekhar 10th November 1990-21st June 1991 
12. P. V Narasimha Rao 21st June 1991- 16th May 1996 
13. Atal Bihari Vajpayee 16th May 1996-1st June 1996 
14. H. D Deve Gowda 1st June 1996- 21st April 1997 
15. Inder Kumar Gujral 21st April 1997- 18th March 1998 
16. Atal Bihari Vajpayee 18th March 1998- 22nd May 2004 
17. Dr Manmohan Singh 22nd May 2004 -17th May 2014 
18. Narendra Modi 26th May 2014 -23rd May 2019 
19. Narendra Modi 30th May 2019 -Incumbent 
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84.

1.

2.

3.

4.

5.

[a] 1, 2 5 [b] 3, 4 5

[c] 1, 4 5 [d] 1, 2, 3, 4 5

Sol. [C]

2

3

4 368 

5

84. What are the basic functions of Parliament in
India?

1. Exercising control over the Council of
Ministers

2. Implementation of the Laws

3. Final interpretation of Constitution

4. Amending various provisions of the
Constitution

5. Enactment of Annual Financial Statement
of Government

Select the correct answer using the code given
below:

[a] 1, 2 and 5 only [b] 3, 4 and 5 only

[c] 1, 4 and 5 only [d] 1, 2, 3, 4 and 5

Sol. [C]

Statement 1 is correct: The Constitution of India
established a parliamentary form of government
in which the Executive is responsible to the Par-
liament for its policies and acts. Hence, the Parlia-
ment exercises control over the Executive through
question-hour, zero hour, half-an-hour discussion,
short duration discussion, calling attention mo-
tion, adjournment motion, no-confidence motion,
censure motion and other discussions. It also su-
pervises the activities of the Executive with the
help of its committees like committee on govern-
ment assurance, committee on subordinate legis-
lation, committee on petitions, etc.

Statement 2 is incorrect: The primary function of
Parliament is to make laws for the governance of
the country or frame the laws according to current
scenario of the society but the implementation of
laws is totally the role of the executive. Executive
has responsibility for the governance of a state.

Statement 3 is incorrect: Neither the executive nor
the Parliament has the power to be the final
interpreter and protector of the constitution, the
power lies in the hand of the Supreme Court. The
final interpreter, protector & guardian of the
Indian Constitution is the Supreme Court of India.

Statement 4 is correct:  The Parliament is
empowered by Article 368 to amend various
provisions of the Constitution.

Statement 5 is correct: Budget (Annual Financial
Statement) is placed before the Parliament for
its approval. The enactment of the budget by the
Parliament legalises the receipts and expenditure
of the government for the ensuing financial year.
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85.

1.

2.

3.

[a] 1 2 [b] 2
[c] 2 3 [d] 1, 2 3

Sol. [B]
1

2

3

1.

2.
3.

4.

86.

1.

2.
3.

4.

[a] [b]

[c] [d]

85. With reference to the parliamentary
committees, Consider the following statements:
1. The Constitution of India has no mention

of parliamentary committees.
2. Parliamentary committees provide a forum

for building consensus across political
parties.

3. Advisory Committees are a type of
Parliamentary committees.

Which of the statements given above is/are
correct?
[a] 1 and 2 only [b] 2 only
[c] 2 and 3 only [d] 1, 2 and 3

Sol. [B]
Statement 1 is incorrect: The Constitution of
India makes a mention of Parliamentary
Committees at different places, but without
making any specific provisions regarding their
composition, tenure, functions, etc. All these
matters are dealt by the rules of two Houses.
Statement 2 is correct:  Parliamentary
Committees provide a forum for building
consensus across political parties. The
proceedings of the House during sessions are
telecasted, and MPs are likely to stick to their
party positions on most matters. Committees
have closed door meetings, which allow them
to freely question and discuss issues and arrive
at a consensus.
Statement 3 is incorrect: A parliamentary
committee means a committee that:
1. Is appointed or elected by the House or

nominated by the Speaker / Chairman

2. Works under the direction of the Speaker
/ Chairman

3. Presents its report to the House or to the
Speaker /Chairman

4. Has a secretariat provided by the Lok
Sabha / Rajya Sabha The Advisory
committees, which also consist of members
of Parliament, are not parliamentary
committees as they do not fulfil above four
conditions.

86. Consider the following statements about
Estimates committee-
1. The chairman of the committee is

appointed on the basis of seniority of the
members.

2. It was first constituted in 1950.
3. It has 30 members and  members elected

every year from lok sabha only.
4. One of the functions of the estimate

committee is to suggest alternative policies
in order to bring about efficiency and
economy in administration.

How many of the above statements are correct?
[a] Only one [b] Only two
[c] Only three [d] Only four
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Sol. [C]

1956 

87.

1.

2.

3.

[a] 2 3 [b] 1 3

[c] 1 2 [d]

Sol. [A]

1. 368 

1 

2. 

2 

3. 

88.

[a] 85 [b] 86

[c] 87 [d] 88

Sol. [C]

87 (1) 

Sol. [C]
The Chairman of the Estimates Committee is
appointed by the Speaker of the Lok Sabha.
It was first formed in 1950 on the recommen-
dation of Finance Minister John Mathai.
Since 1956, it consists of 30 members and mem-
bers are elected every year from the Lok Sabha
only.

87. Which statement are correct regarding the
suspensive veto?
1. The suspensive veto can be used in the

context of the Constitution Amendment
Bill.

2. The suspensive veto cannot be exercised in
respect of a money bill.

3. It can be used in the context of an ordinary
bill.

[a] 2 and 3 only [b] 1 and 3 only
[c] 1 and 2 only [d] none of these

Sol. [A]

1. In the context of the Constitution Amend-
ment Bill (under 368), the President cannot
use the suspensive veto. Hence statement
1 is wrong.

2. With reference to the money bill, the
President can either give assent or withhold
it but cannot use the suspensive veto. Hence
statement 2 is correct.

3. In the context of the ordinary bill, the
President can use the suspensive veto, but
it is mandatory for the President to approve
the same bill back by the Parliament.

88. At the commencement of the first session after
each general election to the House of the People
and at the commencement of the first session
of each year the President shall address both
Houses of Parliament together and inform
Parliament of the reasons of its summons.
The above provision of special address by the
president is mentioned in-
[a] Article 85 [b] Article 86
[c] Article 87 [d] Article 88

Sol. [C]
Article 87(1) provides that after every general
election to the Lok Sabha, the President shall
address both the Houses of Parliament
assembled together and state the reason for
summoning the Parliament.
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89.

1. 20 (3) 

2.
20 (3) 

3.
20

(3) 

[a] 1 3 [b] 1, 2 3

[c]  1 [d] 2 3

Sol. [B]

[a]

[b]

[c]

[d]

Sol. [D]

103 (1) 103 (2)  

91. A

R

[a] A R R, A 

[b] A R R, A 

[c] A R 

[d] R A 

Sol. [C]

89. Choose the correct statement from the
following-

1. Article 20(3) prohibits the accused person
from being compelled to be a witness
against himself.

2. If the accused person is willing to give
evidence against himself, it will not be a
violation of Article 20(3).

3. Search of the premises of the accused and
seizure of documents under a warrant shall
not be a violation of Article 20(3).

[a] 1 and 3 only [b] 1, 2 and 3

[c] 1 only [d] 2 and 3 only

Sol. [B]

90. Who decides the questions relating to the
disqualification of the members of the
Parliament as per Article 103 of the
Constitution of India?

[a] Election Commission

[b] Supreme Court

[c] Lok Sabha Speaker

[d] President

Sol. [D]

Article 103 (1) and Article 103 (2) provide that
the final decision on questions relating to the
disqualification of members of Parliament shall
be taken by the President in accordance with
the advice of the Election Commission.

91. Assertion A: The vote of every voter partici-
pating in the presidential election has the same
vote value.

Reason R: In the election of the President, the
vote value of the members of the states is more
than the vote value of the members of Parliament.

[a] Both A and R are true and R is correct
explanation of A.

[b] Both A and R are true but R is not correct
explanation of A.

[c] Both A and R are wrong

[d] R is true but A is wrong

Sol. [C]
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92.

[a]

[b]

[c]

[d]

Sol. [A]

93.

[a]

[b]

[c]

[d]

Sol. [D]

6
65 

6 65 

94.

[a] 1 [b] 2

[c] 3 [d] 4

92. Consider the following statements and
choose the incorrect one-

[a] The Council of Ministers is collectively
responsible to the Parliament.

[b] The advice tendered by Ministers to the
President shall not be inquired into in any
court.

[c] The clause “The President shall act his
functions as per the advice of the council of
Ministers” was not there in the original
constitution of India.

[d] Every minister shall have the right to speak
and take part in the proceedings of either
House, any joint sitting of the Houses and
any Committee of Parliament of which he
may be nominated member.

Sol. [A]

93. Who among the following holds his/her office

till the pleasure of the President?

[a] Comptroller and Auditor General of India

[b] Chief Election Commissioner

[c] Speaker of Lok Sabha

[d] Attorney General of India

Sol. [D]

The Attorney General of India holds office dur-
ing the till of the President. The Comptroller
and Auditor General of India holds office for 6
years or till the age of 65 years whichever is
earlier.

The Chief Election Commissioner holds office
till the age of 6 years or 65 years whichever is
earlier.

94. How many Indian Prime Ministers have died

while holding the office?

[a] 1 [b] 2

[c] 3 [d] 4
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Sol. [C]

( )

95.

1.

2.

368

[a] 1 [b] 2

[c] 1 2 [d] 1 2
Sol. [D]

1976  42 

96.

[a]

[b]

[c]

[d]

Sol. [A]

Sol. [C]
Indian Prime Ministers who died while
holding office
1. Jawaharlal Nehru :

Jawaharlal Nehru, the first Prime Minister
of independent India, served in office from
1947 to 1964. He died on May 27, 1964, due
to a heart attack.

2. Lal Bahadur Shastri :
Lal Bahadur Shastri served as the second
Prime Minister of India from 1964 to 1966.
He died on January 11, 1966, in Tashkent,
Uzbekistan, where he had gone to sign the
Tashkent Declaration with Pakistan, due to
a heart attack.

3. Indira Gandhi :

Indira Gandhi was the first and only
woman Prime Minister of India, serving
from 1966 to 1977 and again from 1980 to
1984. He was assassinated by his own
bodyguards on 31 October 1984 in
retaliation for his decision to order the
attack on the Golden Temple. (Operation
Blue Star)

95. Consider the following statements-

1. The Preamble of the Constitution of India
has been amended only once so far.

2. The Preamble of the Indian Constitution
can be amended only under Article 368.

Select the correct statement from above.

[a] 1 only [b] 2 only

[c] Neither 1 nor 2 [d] Both 1 and 2

Sol. [D]

The Preamble of the Indian Constitution has
been amended only once so far by the 42nd
Constitutional Amendment in 1976.

96. Which was the only provision of the Indian
Constitution that was passed by the
Constituent Assembly almost without any
debate?

[a] Universal suffrage

[b] Governance

[c] Fundamental Rights

[d] Powers of Judiciary

Sol. [A]
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97. 28

1.

2.

3.

4.

[a] 1, 2 4 [b] 3

[c] 4 [d] 2 4
Sol. [C]

28 

98.

[a] [b]

[c] [d]
Sol. [A]

8 22 

99.

[a]

[b]

[c]

[d] [a] [c] 
Sol. [C]

( )

100.

[a]

[b]

[c]

[d]
Sol. [B]

37 

97. In which of the following four types of
educational institutions mentioned under
Article 28, religious instructions/education is
prohibited-
1. Institutions recongnised by the state
2. Institutions receiving aid form the state
3. Institutions administered by the state but

established under any endowment or trust
4. Institutions wholly maintained by the state
[a] 1, 2 and 4 only [b] 3 only
[c] 4 only [d] 2 and 4 only

Sol. [C]
According to Article 28, institutions recognized
by the state, institutions aided by the state on
voluntary basis, managed by the state but es-
tablished by any charitable or trust are allowed
to impart religious education. Religious in-
structions and religious education are com-
pletely banned in the institution wholly main-
tained by state funds.

98. Which one of the following languages in not
recognized in the Eighth Schedule of the
Constitution of India ?
[a] English [b] Sanskrit
[c] Urdu [d] Nepali

Sol. [A]
There are a total of 22 languages in the 8th
schedule which does not include English.

99. Who among the following ornamented the
original preamble by paintings?
[a] Nandlal Bose
[b] Prem Behari Raizada
[c] Rammanohar Sinha
[d] Both [a] and [c]

Sol. [C]
Nandlal Bose - Painted pictures in different
parts of the constitution.
Prem Bihari Raizada - Author of the original
constitution (in English)
Ram Manohar Singha - Decorated the introduc-
tion with pictures.

100. Implementation of directive principles of
state policy in law making-
[a] Will be the responsibility of the state.
[b] Will be the duty of the state.
[c] Will be an obligation of the state.
[d] Will be  the obligation and responsibility of

State.
Sol. [B]

According to Article 37, the Directive Principles
of State Policy are the fundamental principles
in the governance of the country and it shall be
the duty of the State to implement these prin-
ciples in making laws.
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101. 10,000 

200, 300

500 

3 : 5 : 7 

10,000 

[a] 3000 [b] 2800

[c] 3300 [d] 3500

Sol. [C]

3x              :   5x                  :   7x

3x + 200   :  5x + 300         :  7x + 500 = 10,000

15x = 9000

x = 600

= 5 × 600 + 300 = Rs. 3300

102. 3 : 5 

2 : 3 

6 

[a] 5 : 9 [b] 5 : 7

[c] 7 : 9 [d] 9 : 14

Sol. [D]

I II

3         : 5

2         : 3

8         : 7

24 14 10
10

10 9 1


 



= 30, 50

6 =  36 : 56

= 9 : 14

103. 7 : 9 

13 : 11

2, 27, 500

[a] 2,37,500 [b] 2,47,500

[c] 2,32,500 [d] 2,42,500

101. Rs. 10,000 is divided among Amar, Akbar and
Anthony in such a way that if Rs 200, 300 and
500 are deducted from their respective shares,
their money will be in the ratio 3 : 5 : 7. Find
the share of Akbar (in Rs. 10,000).

[a] Rs.3000 [b] Rs.2800

[c] Rs.3300 [d] Rs.3500

Sol. [C]

Amar      :  Akbar        : Anthony

3x        :   5x                  :   7x

3x + 200   :  5x + 300         :  7x + 500 = 10,000

15x = 9000

x = 600

Akbar = 5 × 600 + 300 = Rs. 3300

102. The ratio of two numbers is 3 : 5. If eight is
added to the first and seven is added to the
second, the ratio becomes 2 : 3. What will be
the ratio if 6 is added to each?

[a] 5 : 9 [b] 5 : 7

[c] 7 : 9 [d] 9 : 14

Sol. [D]

I II

3         : 5

2         : 3

8         : 7

24 14 10
10

10 9 1


 



Number =  30, 50

On adding 6 = 36 : 56

= 9 : 14

103. The entry ticket to a fun park was increased
in the ratio 7 : 9, due to which the number of
customers decreased in the ratio 13 : 11. What
is the new daily collection (in Rs), if the daily
collection before the price hike was Rs. 2, 27,
500?

[a] 2,37,500 [b] 2,47,500

[c] 2,32,500 [d] 2,42,500
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Sol. [B]

7 : 9

13 : 11

91 : 99

( × )

227500
99

91
 

 2,47,500

104. 21, 22, 60 64 x 

(x

+ 1) (7x + 8)

[a] 27 [b] 18

[c] 24 [d] 21

Sol. [C]

21 60

22 64

x x

x x

 


 
(21 - x) (64 - x) = (60 - x) (22 - x)

1344 - 21x - 64x + x2 = 1320 - 60x – 22x + x2

1344 - 1320 = 85x – 82x

24 = 3x

 x = 8

 x + 8 = 8 + 1 = 9
7x + 8 = 64

  9 : b :: b : 64
b2 = 9 × 64

b = 9 64 3 8 24   
105. 2 1 50 

3 : 4 : 5 

250 1 

[a] 70 [b] 100

[c] 60 [d] 80

Sol. [D]

2 1 50 

3           :        4          :        5

6           :        4          :        2.5

2.5 250

1    
250

12.5
= 20

1 = 4 × 20 = 80

Sol. [B]

Price 7 : 9

Number 13 : 11

Collection 91 : 99

(Price × No.)

227500
99

91
 

 2,47,500
104. When x is subtracted from 21, 22, 60 and 64

each , the numbers obtained will be in
proportion. What is the average ratio between
(x + 1) and (7x + 8)?
[a] 27 [b] 18
[c] 24 [d] 21

Sol. [C]

21 60

22 64

x x

x x

 


 
(21 - x) (64 - x) = (60 - x) (22 - x)

1344 - 21x - 64x + x2 = 1320 - 60x – 22x + x2

1344 - 1320 = 85x – 82x

24 = 3x

 x = 8
 x + 8 = 8 + 1 = 9

7x + 8 = 64
  9 : b :: b : 64
b2 = 9 × 64

b = 9 64 3 8 24   
105. The number of 2 rupee, 1 rupee and 50 paise

coins in a bag are in the ratio 3 : 4 : 5. If the
total amount in the bag is Rs 250, then how
many coins of Rs. 1 are there?
[a] 70 [b] 100
[c] 60 [d] 80

Sol. [D]

Rs. 2 Rs.1 50 Paise

Number 3           :        4          :        5

Rs. 6           :        4          :        2.5

2.5 250

1    
250

12.5
= 20

 So 1 Rs. coins  = 4 × 20 = 80
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106. 5 : 7 

[a] 54 [b] 60

[c] 46 [d] 68
Sol. [B]

= 5 + 7 = 12
12 

60 

107.  3 2  12 – 32

[a] 7 [b] 2 7

[c] 6 [d]
15 3 2

2



Sol. [B]

  
   
 

3 2 12 32

3 2 4 3 2

9 2 4 2 7

  

  

   

108. A B 9 : 4 

A 15% 

5175 B 

[a] 2000 [b] 2500

[c] 4000 [d] 4500
Sol. [A]

A     :   B
9x    :   4x

9x × 
115

100
= 5175

x = 500
B = 4 × 500 = 2000

109. A B 3600 4200 

1500 A 

B 2 

300 B 

[a] 12 [b] 10 
[c] 9 [d] 7 

106. The ratio of two whole numbers is 5 : 7. Which
of the following can be their sum?
[a] 54 [b] 60
[c] 46 [d] 68

Sol. [B]

Sum of given ratio = 5 + 7 = 12

Hence, the required sum should be multiple of
12, which according to options is 60 only.

107. The mean proportional between  3 2

 and  12 – 32  is-

[a] 7 [b] 2 7

[c] 6 [d]
15 3 2

2



Sol. [B]

  
   
 

3 2 12 32

3 2 4 3 2

9 2 4 2 7

  

  

   

108. The salaries of A and B are in the ratio 9 : 4
respectively. When A’s salary is increased by
15%, it becomes Rs 5175. What is the salary of
B?

[a] Rs.2000 [b] Rs.2500

[c] Rs.4000 [d] Rs.4500

Sol. [A]

A     :   B

9x    :   4x

9x × 
115

100
= 5175

x = 500

B = 4 × 500 = 2000

109. A and B enter into a partnership by investing
Rs. 3600 and Rs. 4200 respectively. At the end
of the partnership, they got a total profit of
Rs. 1500. If A invested for 2 months less than
B and the difference between the profit
earned by them is Rs. 300, then find the period
of investment of B.

[a] 12 months [b] 10 months

[c] 9 months [d] 7 months
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Sol. [C]

A = PA

B = PB

1500....( )

300....( )
B A

B A

P P i

P P ii

  
 

(i) (ii)

900 600B AP P 

A = t

A = 

3600 600 2

4200( 2) 900 3

t

t


  



3600 2

4200 8400 3

t

t



10800t = 8400t + 16800

10800t - 8400t = 16800

2400t = 16800

t = 
16800

7
2400

m

B = 7 + 2 = 9 

110. A, B C 30,000,  25,000 

20,000 3 

B 5000 1 

[a] 2 : 2 : 1 [b] 24 : 23 :16
[c] 24 : 23 : 1 [d] 5 : 5 : 4

Sol. [B]

A  :   B   :    C 

= [(30000 ×12) : (25000 × 3 + 30000 × 9)] : (20000
× 12)

= 360000 : 345000 : 240000

= 360 : 345 : 240

=24 : 23 :16

 = 24 : 23 : 16

111. ABIDE '14811625'

'CAGED' 

[a] 61492516 [b] 91416514
[c] 91492516 [d] 81493514

Sol. [C]

Let the profit of A = PA

Let the profit of B = PB

1500....( )

300....( )
B A

B A

P P i

P P ii

  
 

On solving (i) and (ii)-

900 600B AP P 

Let the time for A = t
Capital investement of A = Profit Ratio

3600 600 2

4200( 2) 900 3

t

t


  



3600 2

4200 8400 3

t

t




10800t = 8400t + 16800

10800t - 8400t = 16800

2400t = 16800

t = 
16800

7
2400

m

Time for B = 7 + 2 = 9 months
110. A, B and C started a business by investing Rs

30,000, Rs 25,000 and Rs 20,000 respectively.
After 3 months, B  invested Rs 5000 more.
What will be the profit ratio after 1 year?

[a] 2 : 2 : 1 [b] 24 : 23 :16

[c] 24 : 23 : 1 [d] 5 : 5 : 4

Sol. [B]

Ratio of capital investment A : B : C -

= [(30000 ×12) : (25000 × 3 + 30000 × 9)] : (20000
× 12)

= 360000 : 345000 : 240000

= 360 : 345 : 240

= 24 : 23 :16

Ratio of profit = 24 : 23 : 16

111. In a certain language 'ABIDE' is written as
'14811625' then how 'CAGED' will be written
in the same language?

[a] 61492516 [b] 91416514

[c] 91492516 [d] 81493514
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Sol. [C]

    
    

C A G E D

(3)² 9 (1)² 1 (7)² 49 (5)² 25 (4)² 16

112. RUBY '264' 

'PAY' '126' 

'RUPAY' 
[a] 405 [b] 145
[c] 81 [d] 375

Sol. [A]

 × 
RUBY = (18 +  21 + 02 + 25) × 4 = 264
PAY = (16 + 01 + 25) × 3 = 126

RUPAY = (18 + 21 + 16 + 01 + 25) × 5
= 405

113. RIVER '10_3_6_2_10'

'PETROL' 

[a] 13_5_8_9_4_15 [b] 12_2_8_10_13_15
[c] 11_2_7_10_13_16 [d] 12_2_8_10_4_16

Sol. [D]

+ 1 

A E I O U
1 2 3 4 5

PETROL = 12–2–8–10–4–16

114.  SOLDIER 

JFSCRNK 

GENIOUS 
[a] PVTHHFO [b] PVTHFDM
[c] PVTHMDF               [d] TVPHFDM

Sol. [B]

SOL IERD

IER SOLD

JFS RNKC
–1 –1+1

GEN OUSI

OUS GENI

PVT FDMH
–1 –1+1

Sol. [C]

Letter's position

    
    

C A G E D

(3)² 9 (1)² 1 (7)² 49 (5)² 25 (4)² 16

112. In a certain language 'RUBY' is written as '264'
and 'PAY' is written as '126' then how 'RUPAY'
will be written in the same language?

[a] 405 [b] 145
[c] 81 [d] 375

Sol. [A]
  Sum of letters position × no of letters in

word
RUBY = (18 +  21 + 02 + 25) × 4 = 264
PAY = (16 + 01 + 25) × 3 = 126

Similarly RUPAY = (18 + 21 + 16 + 01 + 25) × 5
= 405

113. In a certain language 'RIVER' is written as
'10_3_6_2_10' then how 'PETROL' will be
written in the same language?
[a] 13_5_8_9_4_15 [b] 12_2_8_10_13_15
[c] 11_2_7_10_13_16 [d] 12_2_8_10_4_16

Sol. [D]
The opposite order of the (consonants + 1) is to
be followed and the order of the vowels is to
be maintained.

A E I O U
1 2 3 4 5

PETROL = 12–2–8–10–4–16
114. If SOLDIER is coded as JFSCRNK then how

would you code GENIOUS in that code lan-
guage?
[a] PVTHHFO [b] PVTHFDM
[c] PVTHMDF              [d] TVPHFDM

Sol. [B]

SOL IERD

IER SOLD

JFS RNKC
–1 –1+1

GEN OUSI

OUS GENI

PVT FDMH
–1 –1+1
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115. COMPUTER KWUXCBMZ 

RUNJHUN 

[a] ZCVPRVC [b] ZCVRPCV
[c] ZCVRQCV [d] ZCRVPCV

Sol. [B]

C O M P U T E R K W U X C B M Z
+8
+8
+8
+8
+8
+8
+8
+8

R U N J H U N Z C V R P C V
+8
+8
+8
+8
+8
+8
+8

116. 'PAPER' 'OZODQ' 
'PENCIL' 

[a] QFODJM [b] OFOBHM
[c] ODMDJM [d] ODMBHK

Sol. [D]

P  A  P  E  R O  Z  O  D  Q
-1
-1
-1
-1
-1

P  E  N  C  I  L O  D  M  B  H  K
-1
-1
-1
-1
-1
-1

117. CONQUER 
MNBRQDT STEAMER 

[a] OCPICGTU [b] OCPCIGTU
[c] OCICPGTV [d] DSRBQDL

Sol. [D]

C O N Q U E R M N B R Q D T
-1
-1
-1
+1

-1
-1

S  T E A M E R D  S R  B Q D L
-1
-1
-1
+1

-1
-1

115. If COMPUTER is coded as KWUXCBMZ then
how would you code RUNJHUN in that code
language?
[a] ZCVPRVC [b] ZCVRPCV
[c] ZCVRQCV [d] ZCRVPCV

Sol. [B]

C O M P U T E R K W U X C B M Z
+8
+8
+8
+8
+8
+8
+8
+8

R U N J H U N Z C V R P C V
+8
+8
+8
+8
+8
+8
+8

116. If 'PAPER' is coded as 'OZODQ' then how
would you code 'PENCIL' in that code lan-
guage?
[a] QFODJM [b] OFOBHM
[c] ODMDJM [d] ODMBHK

Sol. [D]

P  A  P  E  R O  Z  O  D  Q
-1
-1
-1
-1
-1

P  E  N  C  I  L O  D  M  B  H  K
-1
-1
-1
-1
-1
-1

117. If CONQUER is coded as MNBRQDT then
how would you code STEAMER in that code
language?
[a] OCPICGTU [b] OCPCIGTU
[c] OCICPGTV [d] DSRBQDL

Sol. [D]

Just as

C O N Q U E R M N B R Q D T
-1
-1
-1
+1

-1
-1

Similarly

S  T E A M E R D  S R  B Q D L
-1
-1
-1
+1

-1
-1
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118. LOVE 27
COME

[a] 38 [b] 18

[c] 28 [d] 8

Sol. [B]

L       O     V     E



12 + 15 + 22 + 5 = 54

54

2
 27

C   O     M     E



3 + 15 + 13 + 5 = 36

36

2
 18

(119-120) : 

‘829’  ‘how art
thou’, ‘958’   ‘thou art good’  ‘15873’ 

 ‘thy good and thou bad’

119. ‘thou’

[a] 9 [b] 8

[c] 2 [d] 5

Sol. [B]

8 2 9 how art thou

9 5 8 thou art good

1 5 8 7  3 thy good and thou bad

120. ‘how’

[a] 5 [b] 8

[c] 2 [d] 9

Sol. [C]

8 2 9 how art thou

9 5 8 thou art good

1 5 8 7  3 thy good and thou bad

118. If LOVE is coded as 27, then how is COME
coded as?

[a] 38 [b] 18

[c] 28 [d] 8

Sol. [B]

L       O     V     E



12 + 15 + 22 + 5 = 54

54

2
 27

Similarly,

C   O     M     E



3 + 15 + 13 + 5 = 36

36

2
 18

Directions (119-120) : Study the following informa-
tion to answer the given questions :

In a certain code ’829' means ‘how art thou,’ ‘958’
means ‘thou art good’ and ‘15873’ means ‘thy good
and thou bad’.

119. What is the code for ‘thou’ ?

[a] 9 [b] 8

[c] 2 [d] 5

Sol. [B]

8 2 9 how art thou

9 5 8 thou art good

1 5 8 7  3 thy good and thou bad

120. What is the code for ‘how’ ?

[a] 5 [b] 8

[c] 2 [d] 9

Sol. [C]

8 2 9 how art thou

9 5 8 thou art good

1 5 8 7  3 thy good and thou bad
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121
[a] 1958

[b]
18

[c]

[d] 2010

Sol. [B]

(i)
2010

1958

(ii)
(PIP)

(SECC)

(iii) 
9

(iii) Schemes Run by RAJEEVIKA 

 

  Centre              State 

  

 NRLM   NRETP    Rajasthan  M-Power  
(National Rural livelihood (National Rural Economic Grameen  
Mission )   Transformation Project) Ajeevika 

122
(MGNREGS)

1 1
2008

2
125

[a] 1 [b] 2
[c] 1 2 [d] 1 2

Sol. [D]
(i) 2005 2006 

1 2008

100

121. Select the incorrect statement about RAJEEVIKA-
[a] It is an society registered under Society Reg-

istration Act,1958.
[b] It is the implementing agency for national

rural economic transformation project
which is running in 18 districts of the state.

[c] State government schemes like Rajasthan
Grameen Ajeevika and M-power are also
implemented by it.

[d] It is an autonomous society established on
October 2010 under the chairmanship of
Chief Minister.

Sol. [B]
(i)  RAJEEVIKA : Rajasthan Grameen Aajeevika

Vikas Parishad (RGAVP)
     Registered under society registration act,

1958. Chairman: CM
(ii) All rural poor are identified through par-

ticipatory identification process (PIP) and
under Socio-Economic caste census (SECC).

(iii)It is implementing agency for national ru-
ral economic transformation project which
is running in 9 districts of the state.

(iii) Schemes Run by RAJEEVIKA 

 

  Centre              State 

  

 NRLM   NRETP    Rajasthan  M-Power  
(National Rural livelihood (National Rural Economic Grameen  
Mission )   Transformation Project) Ajeevika 

122. Consider the following statements about
Mahatma Gandhi National Rural
Employment Guarantee Scheme (MGNREGS)-
1. It has been implemented all over India since

1st April 2008 as a legal Right to Work.
2. Under this, 125 days of assured

employment is being provided to every
eligible family in rural areas of Rajasthan.

Select incorrect statements from above-
[a]  1 only [b] 2 only
[c]  Both 1 and 2 [d] Neither 1 nor 2

Sol. [D]

(i) MNREGA scheme - implemented in 2006
by the Act, 2005. It came into force in the
whole country from 1st April 2008. It is a
centrally sponsored scheme that provides
100 days of guaranteed employment to ev-
ery eligible rural household whose adult
members are willing to do unskilled manual
work.
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(ii)
(CMREGS) 2022 23

125

(iii) 15

(iv)

123

[a] 2100 [b] 2475

[c] 2500 [d] 1175

Sol: [B]

24 2022

75

1
10000

2475

124 31 2022

[a] 80.39 [b] 82.39

[c] 85 39 [d] 88 39

Sol. [D]

• 31
2022 186462 10

88 39

• 2011 43 264

125

[a]

[b]

[c]

[d]

(ii) In Rajasthan, it is run under the Chief
Minister's Rural Employment Guarantee
Scheme (CMREGS). In the budget 2022-23,
it has been announced to provide 125 days
of employment to the family.

(iii) State provides unemployment allowance
if employment is not provided within 15
days of application.

(iv) At least one-third of the beneficiaries of this
scheme shall be women.

123. How much sarovar are to be developed in
Rajasthan under Amrit Sarovar Mission?

[a] 2100 [b] 2475

[c] 2500 [d] 1175

Sol: [B]

'Mission Amrit Sarovar' was launched by the
Prime Minister on 24 April 2022. Its main ob-
jective is to rejuvenate 75 water bodies in each
district of the country. It is an initiative under
the Amrit Mahotsav program of Independence.

Each Sarovar will have a minimum pond area
of 1 acre and water holding capacity of about
10000 cubic metres.

Rajasthan's target is 2475 lakes.

124. The total percentage of villages connected via
roads in Rajasthan as on 31 March 2022 is-

[a] 80.39 [b] 82.39

[c] 85 39 [d] 88 39

Sol. [D]

• The total length of rural roads in Rajasthan
(as on 31 March 2022): 186462.10 km. Is.
Percentage of villages connected by it:
88.39%.

• According to the 2011 census, there are 43,
264 villages in the state.

125. Where will the buildings be constructed un-
der the Ambedkar Bhavan Yojana of the Gov-
ernment of Rajasthan?

[a] Every Nagar Palika headquarter

[b] Every Nagar Parishad headquarter

[c] Every Nagar Nigam headquarter

[d] Every Panchayat Samiti Headquarter
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Sol. [D]

2019-20 

50 00

126

1

2

3

4

[a] 1 2 [b] 1 3

[c] 1 2 3 [d] 2 4

Sol. [D]

• [MPLAD] 
5 

•

•

•

127 RUDA

[a] 1995 [b] 1995

[c] 1995 [d] 1995

Sol. [D]

1995 

Sol. [D]

Ambedkar Bhawan Yojana of Rajasthan gov-
ernment was announced in the year 2019-20.
Under which Ambedkar Bhavan will be con-
structed at each Panchayat Samiti headquar-
ters, the estimated cost of one Ambedkar
Bhavan will be Rs.50-00 lakhs.

126. Select the schemes implemented across state for
rural development by Indian government-
1. Mahatma Gandhi Jan-Bhagidari Vikas Yojana
2.  Border Area Development Program
3.  Magra Area Development Program
4. Member of Parliament Local Area Devel-

opment Plan
Code-
[a] 1 2 [b] 1 3
[c] 1 2 3 [d] 2 4

Sol. [D]
Central Government Scheme:
• Member of Parliament Local Area Devel-

opment Scheme, Under this, development
works worth Rs. 5 crore can be recom-
mended by the MP.

• Border Area Development Program It was
started by the Center in the four border dis-
tricts of Rajasthan, Barmer, Bikaner,
Ganganagar and Jaisalmer during the Sev-
enth Five Year Plan.

State Government Scheme:
• Magra Area Development Program Scheme

is working in Ajmer, Bhilwara, Chittor,
Rajsamand and Pali of Rajasthan.

• Mahatma Gandhi Jan Bhagidari Vikas Yojana:
Applicable in rural areas of Rajasthan.

127. RUDA (Rural Non Farm Development
Agency) was established by Government of
Rajasthan on?
[a] January, 1995 [b] December, 1995
[c] October, 1995 [d] November, 1995

Sol. [D]

Ruda was established in 1995. It is an indepen-
dent agency for the promotion of rural non-ag-
riculture sector in Rajasthan.
Objective : To provide sustainable employ-
ment to large number of artisans, weavers,
potters, stone Sculptors.
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128

[a] 11 2022 [b] 11 2022

[c] 11 2023 [d] 11 2023
Sol. [B]

22 2016 11
2022

129. (PDP)

1.

2.

[a] 1 [b] 2

[c] 1 2 [d] 1 2
Sol. [B]

2015 
2022-23 

130.

[a] [b]

[c] [d]
Sol. [A]

16 G.I. Tag 
16

131. 2022 

1.

2.

3.

[a] 1 3 [b] 1

[c] 3 [d]

128. Recently Rajasthan wasteland and Pasture
land development board has been reconstituted
on?
[a] 11 January 2022 [b] 11 February 2022
[c] 11 January 2023 [d] 11 February 2023

Sol. [B]
Rajasthan wasteland & Pasture development
board works under Bio-fuel authority with
objective of development of wasteland & pas-
tures of the state.
It was reconstituted on 22nd December 2016 &
recently on 11th February 2022.

129. Consider the following statements related to
Panchayat Development Plan (PDP)-

1. This is a state government scheme.
2. The theme of this scheme is “Sabki Yojana

Sabka Vikas”.
Choose the correct statement-

[a] 1 only [b] 2 only
[c] Both 1 and 2 [d] Neither 1 nor 2

Sol. [B]
Panchayat Development Scheme is being run
from the year 2015 by the Ministry of
Panchayati Raj, Government of India. “Sabki
Yojana – Sabka Vikas” campaign is being run
from the year 2022-23.

130. The first commodity of Rajasthan to be given
Geographical Indication?

[a] Bikaneri Bhujiya [b] Theva Art
[c] Sojat Mehndi [d] Kota Doria

Sol. [A]
A total of 16 items in Rajasthan have got G.I.
Tag. The first item was Bikaneri Bhujia. Re-
cently, Sojat Henna has been given this status
as the 16th commodity.

131. With reference to India Justice Report-2022,
consider the following statements-

1. It is published by the Ministry of Law and
Justice.

2. Rajasthan Ranked 2nd in this report.
3. Basic facilities, legal aid, condition of Jails

and vacant posts in judiciary are among its
parameter.

Which of the above statement is correct-
[a]  1 and 3 only [b] 1 only
[c]  3 only [d] All of the above
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Sol. [C]
•

(2019, 2020,
2022)

•

• 18 7 

• 25 
• 10 

132.

[a]

[b]

[c]

[d]
Sol. [D]

• 17 

•

133.

I II

A. 1.

B. 2.

C. 3.

D. 4.
A B C D A B C D

[a] 4 3 1 2 [b] 2 4 1 3
[c] 2 4 3 1 [d] 3 1 4 2

Sol. [B]
•

•

•

•

Sol. [C]
• The India Justice Report is published by

"Tata Trust", so far three reports (2019, 2020,
2022) have been published.

• It provides ranking to the states on the ba-
sis of judicial system.

• In this, states have been divided into 18 big
and 7 small states.

• It provides ranks for 25 states.
• Rajasthan ranks 10th in this.

132. Which dam of the Rajasthan state has been
recognized as an iconic dam by the Central
Water Commission?
[a] Bhim Sagar Dam
[B] Gambhiri Dam
[c] Bisalpur Dam
[d] Rana Pratap Sagar Dam

Sol. [D]
• Central Water Commission has included

only Rana Pratap Sagar Dam (Ravat Bhata,
Chittorgarh) from Rajasthan in 17 Iconic
Dams.

• Located at Bhim Sagar (Jhalawar), Bisalpur
(Tonk), Gambhiri (Chittorgarh).

133. Match the following pairs-
List-I List-II

A. Aanchal Campaign 1. Jaipur
B. Abhilasha Campaign 2. Karauli
C. Jeeto Ahimsa Run 3. Churu
D. Computer Sakhi 4. Udaipur

Initiative
A B C D A B C D

[a] 4 3 1 2 [b] 2 4 1 3
[c] 2 4 3 1 [d] 3 1 4 2

Sol. [B]
• Anchal Abhiyaan - This campaign by

Karauli district administration includes spe-
cial health care for pregnant women and
testing and counseling of hemoglobin level.

• Abhilasha Abhiyan- Udaipur district ad-
ministration teaches software programming
to underprivileged girls and women.

• Computer Sakhi Initiative- Churu district
administration is providing computer train-
ing to women associated with Rajivika.

• Jeeto Ahimsa Run – Held in Jaipur. It was
organized on the initiative of the Depart-
ment of Non-Violence and Peace.
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134. SDG 2023 

1.

2. 17 330 

3.

[a] 2 3 [b] 3

[c] 1 2 [d]

Sol. [C]

•

• SDG 2023 5 

• 17 SDG 330 

•
•

135.

1. 2013 

2. IUCN 

3. 100 

4. 2019 

[a] 1 3 [b] 1 4
[c] 2 [d]

Sol. [B]
• 2013

• IUCN (Critically
Endangered)

•
•

134. With reference to the Rajasthan SDG Status
Report-2023, consider the following
statements-
1. It was published by the Directorate of Eco-

nomics and Statistics.
2. 17 goals and 330 indicators have been in-

cluded in it.
3. Kota has secured first position.
Correct statement from the above is/are-
[a] 2 and 3 only [b] 3 only
[c] 1 and 2 only [d] All of the above

Sol. [C]
• It has been prepared by the Directorate of

Economics and Statistics.
• This is the 5th edition of the Rajasthan SDG

Status Report 2023.
• In this, district-wise status of Rajasthan was

measured on the basis of 17 SDG targets and
330 indicators.

• Sikar stood first and Jhunjhunu stood sec-
ond.

• It has been prepared on the basis of State
Indicator Framework.

135. With reference to Great Indian Bustard con-
sider the following statements-
1. Project Great Indian Bustard was launched

in June 2013.
2. The Great Indian Bustard is listed as endan-

gered in the IUCN list.
3. At present their number is about 100 and

they  are found only in Rajasthan.
4. The breeding center was started in June

2019.
Choose the correct statement-

[a] 1 and 3 only [b] 1 and 4 only
[c]  2 only [d] All of the above

Sol. [B]
• The project for Great Indian Bustard was

started in June 2013.
• It is classified as Critically Endangered by

IUCN.
• Presently they are found in Rajasthan and

Pakistan .
• A breeding center has been set up for them

in Jaisalmer which has recently produced
chicks (artificially).
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136. IIT 

[a] IIT [b] IIT 
[c] IIT [d] IIT 

Sol. [A]
IIT 

137.

[a] [b]

[c] [d]
Sol. [D]

138.

1.
2.
3.

4.

[a] 1 3 [b] 1, 2 3
[c] 3 [d]

Sol. [A]
•

• 150 

•
•
•

139.

1.

2. 2018 
3.

[a] [b]

[c] [d]

136. Which IIT of India is going to set up its first
campus abroad-
[a] IIT Madras [b] IIT Delhi
[c] IIT Mumbai [d] IIT Kanpur

Sol. [A]
IIT Madras will set up its first international
campus in Africa in Zanzibar (Tanzania).

137. Which of the following countries has ap-
proved the use of Indian rupee for trade?
[a] Japan [b] China
[c] South Korea [d] Malaysia

Sol. [D]
Malaysia has agreed to do business in Indian
Rupee.

138. With reference to Jal Shakti Abhiyan, con-
sider the following statements-
1. It is a program of the Ministry of Jal Shakti.
2. Its theme is "Catch the Rain".
3. Its objective is to focus on water conserva-

tion and rain water harvesting.
4. The objective of the Aam Pokhri Abhiyan

is to rejuvenate the water bodies in the
urban areas of India.

Select the correct statement/s-
[a] 1 and 3 only [b] 1, 2 and 3 only
[c] 3 only [d] All of the above

Sol. [A]
• Jal Shakti Abhiyan: Catch the rain is a cam-

paign of the Ministry of Jal Shakti.
• Under this, 150 water-stressed districts have

been identified under the Jal Jeevan Mis-
sion.

• The theme "Source Sustainability for Drink-
ing Water".

• Main objective - water conservation and
rain water harvesting.

• Aam Pokhari Abhiyan - Rejuvenation of
water bodies in urban areas of Odisha.

139. With reference to the All India Tiger
Estimation, consider the following statements:
1. It is published once in every four years by the

National Tiger Conservation Authority with
the help of other associate organizations.

2. There has been an increase in the number
of tigers in India as compared to 2018.

3. This progress has been seen in all the tiger
reserves of India.

How many of the above statements are correct-
[a] Only one [b] Only two
[c] Only three [d] None
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Sol. [B]

• (NTCA) 4 

• 2022 3167 2018 
6.74% 

•

• NTCA 

140.

[a]

[b] (UNICEF)

[c]

[d]

Sol. [D]

(WHO) 19 

141.

[a]

[b]

[c]

[d]

Sol. [D]

250 

2023-24 

142.

[a] [b]

[c] [d]

Sol. [B]

Sol. [B]
• All India Tiger Estimation (NTCA) is done

once in every 4 years by the National Tiger
Conservation Authority.

• The number of tigers in 2022 is 3167 which
shows an increase of 6.74% over 2018.

• There has been an increase in the number
of tigers in the Shivaliks and the Ganga
Plain region, while there has been a de-
crease in the number of tigers in the West-
ern Ghats region.

• Along with the NTCA, state forest depart-
ments, non-governmental organizations
and the Wildlife Institute of India are in-
volved in the tiger census.

140. Which organization has launched “The Big
Catch Up” initiative?
[a] World Bank
[b] United Nations Children's Fund (UNICEF)
[c] United Nations Development Program
[d] World Health Organization

Sol. [D]
"The Big Catch Up" initiative has been launched
by the World Health Organization (WHO) to
improve vaccination progress affected by
COVID-19.

141. In which of the following places new medi-
cal colleges will be established-

[a] Pratapgarh, Kota, Jaipur
[b] Pratapgarh, Kota, Rajsamand
[c] Jaipur, Jodhpur, Kota
[d] Pratapgarh, Jalore, Rajsamand

Sol. [D]
The Chief Minister approved the announce-
ment to set up a medical college at Pratapgarh,
Rajsamand, Jalore in Rajasthan at a cost of Rs
250 crore. These were announced in the bud-
get 2023-24.

142. Who among the following has been awarded
the Air Force Medal (Gallantry)?

[a] Avni Chaturvedi [b] Deepika Mishra
[c] Mohana Jeetwar [d] Bhavna Kant

Sol. [B]

Wing Commander Kota who has recently been
awarded the Vayu Sena Medal (Gallantry)
award.
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143.

[a] [b]

[c] [d]

Sol. [A]

144.

1. 21 2023 30 2023 

2.

[a] 1 [b] 2

[c] 1 2 [d] 1, 2

Sol. [A]

• 21 30 

• 10 

100 

200 

145.

[a] [b]

[c] [d]

143. The first Vande Bharat Express of Rajasthan
has been operated between which two places-

[a] Ajmer-Delhi Cantt [b] Jodhpur-Jaipur

[c] Kota-Jaipur [d] Jaipur-Surat

Sol. [A]

Rajasthan's first Vande Bharat train has run
between Ajmer and Delhi Cantt.

144. Consider the following statements about
Mahangai Rahat Camp-

1. It was organized from 21 April 2023 to 30
June 2023.

2. In the Mahangai Rahat Camp the benefits
of all the schemes of the Government of
Rajasthan were provided.

Which of the above statement(s) is/are correct-

[a] 1 only [b] 2 only

[c] Both 1 and 2 [d] Neither 1 nor 2

Sol. [A]

• Mahangai Rahat Camp were organized
from 21st April to 30th June.

• 10 schemes were included in this.

- Chief Minister Gas Cylinder Scheme.

- Free Electricity Scheme (100 units domes
  tic consumer)

- Free electricity scheme (200 units agricul
  tural consumer)

-  Annapurna Food Packet Scheme.

-  Chief Minister Rural Employment Guar
   antee Scheme.

- Indira Gandhi Urban Employment
        Scheme.

-  Social Security Pension Scheme.

   Chief Minister Kamdhenu Yojana.

   Chiranjeevi Health Insurance Scheme.

   Chief Minister Chiranjeevi Accidental In
    surance Scheme.

145. Who has been awarded the Florence
Nightingale Award for excellence work in
Nursing at state level?

[a] Kishanlal Suthar [b] Balunath Kalbelia

[c] Prem Singh Meena [d] Ashwini Vaishnav
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Sol. [C]

•

• 2023 

•

146. (SCO) 

1. 2001 

2.

3.

4.

[a] 1 4 [b] 1, 2 3

[c] 1 3 [d]

Sol. [A]

• (SCO) 2001 

•

2017 

147.

[a] [b]

[c] [d]

Sol. [D]

76 10 

Sol. [C]

• Prem Singh Meena of Dausa has been
awarded the Florence Nightingale Award
for outstanding service in medicine.

• Balunath Kalbelia-Marwar Ratna Award
2023 was awarded to Komal Kothari.

Rao Siha Samman was given to Ashwini
Vaishnav.

• Kishanlal Suthar, a farmer from Bikaner,
who received the Lifetime Achievement
Award from the President. (For innovation
in groundnut peeling and drilling machine)

146. Consider the following statements about
"Shanghai Cooperation Organisation" (SCO)-

1 It was established in 2001 at Shanghai.

2. It's headquarter is in Shanghai (China).

3. India is its founding member.

4. Its purpose is political, economic and
security cooperation.

Select the correct statements from above-

[a] 1 and 4 only [b] 1, 2 and 3 only

[c] 1 and 3 only [d] All the above

Sol. [A]

• The Shanghai Cooperation Organization
(SCO) was established in 2001. Its headquar-
ter is in Beijing (China).

• China, Kazakhstan, Russia, Uzbekistan,
Kyrgyzstan, Tajikistan are its founding
members. India and Pakistan joined it in
2017. Iran has been made a member of the
recently held summit in India.

147. Country's first water metro has been started at?

[a] Mumbai [b] Assam

[c] Chennai [d] Kochi

Sol. [D]

The country's first water metro service has been
started in Kochi (Kerala). The 76 kilometer long
service connects 10 island communities to the
mainland.
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148.

1.

2.

3.

4.

[a] [b]

[c] [d]

Sol. [A]

•

•

•

• 19 46 2967 

• 1451 4800 

•

• 5 

149. 2023 

1.

2.

3. (ISRO)

NSIL 

[a] 1 [b] 2 3

[c] 2 [d]

148. With reference to the Vibrant Village
programme, consider the following statements-

1. Under this, only the areas sharing the border
with China have been included.

2. Its purpose is to stop migration and to
increase employment opportunities.

3. Ministry of Home Affairs is the nodal agency
for this.

4. It is a Central Sector Scheme.

How many of the above statements are correct-

[a] Only Two [b] Only Three

[c] Only One [d] All of the above

Sol. [A]

• Vibrate Village Program

• Launch:- In village Kibithu, Arunachal
Pradesh

• Under this, Sikkim, Uttarakhand, Himachal,
Arunachal Pradesh, and Ladag are included
which also share borders with countries like
Nepal, Bhutan along with China.

• It includes 19 districts, 46 blocks and 2967
villages.

• In the first phase, 1451 villages and Rs 4800
crore will be done.

• Its goal is to stop migration from all the vil-
lages of the entire northern border, increase
employment, promote tourism and provide
facilities like cities.

• Restoring the condition of 5 years before
migration.

149. With reference to the National Space Policy
2023, consider the following statements-

1. This is India's first space policy.

2. It aims to promote the role of Department
of Space and promote research, education,
startups.

3. It also mentions the transfer of responsibil-
ity  to NSIL from ISRO regarding upcom-
ing missions.

Select the correct code from the above-

[a] 1 only [b] 2 and 3 only

[c] 2 only [d] All of the above
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Sol. [B]

• India's first space policy came in 1997, when
FDI was allowed in the satellite sector.

• The policy clarifies the role of NSIL and IN-
SPACE. NSIL will operate the missions and
IN-SPACE will act as the interface for pri-
vate participation.

• ISRO will get more time for research and
development.

150. At present, which political parties have got
the status of National party-

[a] BJP, Congress, CPI,  AAP

[b] CPI (M), Bahujan Samaj Party, National
People's Party, BJP

[c] CPI, BJP, AAP, Bahujan Samaj Party

[d] BJP, Trinamool Congress, Congress,
Bahujan Samaj Party

Sol. [B]

• The task of granting and withdrawing the
status of a national party is done by the Elec-
tion Commission under the Representation
of the People Act-1951.

• Currently BJP, Indian National Congress,
Aam Aadmi Party, Bahujan Samaj Party,
CPI (M), National Peoples Party are na-
tional parties.

Criteria -
• A party should secure at least 6% of the

votes polled in four or more states in Lok
Sabha or assembly elections, and in addi-
tion, have at least four members in the Lok
Sabha

• It should have at least 2% of the total Lok
Sabha seats, and have candidates from not
less than three states.

• It is recognised as a state party in at least
four states.

Sol. [B]

• 1997 
FDI 

• NSIL IN-SPACE 
NSIL 

IN-SPACE 

•

150.

[a] BJP, CPI,  AAP

[b] CPI (M)
BJP

[c] CPI, BJP, AAP, 

[d] BJP, 

Sol. [B]

•
1951 

• BJP, 
CPI (M), 

 

•

6%

• 2%

•
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DATE

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
B B A A C D C A D D C C C A C
16 17 18 19 20 21 22 23 24 25 26 27 28 29 30
A B A D D C A A D C A D C A C
31 32 33 34 35 36 37 38 39 40 41 42 43 44 45
D A B C A A C B C D A D B C B
46 47 48 49 50 51 52 53 54 55 56 57 58 59 60
D A B B A B D D D C C D C D B
61 62 63 64 65 66 67 68 69 70 71 72 73 74 75
C B C A C C C D B B A D C D D
76 77 78 79 80 81 82 83 84 85 86 87 88 89 90
D A C A D C C B C B C A C B D
91 92 93 94 95 96 97 98 99 100 101 102 103 104 105
C A D C D A C A C B C D B C D

106 107 108 109 110 111 112 113 114 115 116 117 118 119 120
B B A C B C A D B B D D B B C

121 122 123 124 125 126 127 128 129 130 131 132 133 134 135
B D B D D D D B B A C D B C B

136 137 138 139 140 141 142 143 144 145 146 147 148 149 150
A D A B D D B A A C A D A B B
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